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  ةمدقم
 
 :ةبلاطلا يتزيزع بلاطلا يزيزع
 
 ةبهوملل هلاجرو زيزعلادبع كلملا ةسسؤم نيب ةيجيتارتسا ةكارشب
 .ةينقتلاو ءاضفلاو تلااصتلاا ةئيهو "ةبهوم" عادبلإاو

 ةبهوم جمانرب نمض ءاضفلاو كلفلا يف بوهوم ةقباسم قلطنت
 تادايبملولاا يف ةكلمملا لثمي قيرف سيسأتل ةيلودلا تادايبملولأل

 .لبقتسملا يف ةدايرلاو نكمتل يويحلا لاجملا اذه يف ةيلودلا

 قيرف دادعلإ ةينقتلاو ءاضفلاو تلااصتلاا ةئيهو ةبهوم ىعست كلذل
  كلفلل يلودلا دايبملولاا يف كراشي ةسفانملا نم نكمتم يملع 
 تايقتلم نم اهيلي امو ةقباسملا هذه قلاطا للاخ نم ةيكلفلا ءايزيفلاو

 .ةيبيردت 
 
 يئدبم لكشب فرعتت اهللاخ نم يتلاو ةيبيردتلا ةبيقحلا نلآا كيدي نيبو

 اهرفاوت بجاولا تايساسلأاو ةقباسملا ةلئسأو تاعوضومو ةعيبط ىلع
 لينل ةسفانملا قيرط لوأ ىلع كعضت يتلا ناقتلاا ةلحرم يف لخدت ىتح
 .ةيلودلا ةقباسملا يف نطولا ليثمت فرش
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 .ةفدهتسملا ةئفلا

 .يوناث يناثلا يلإ طسوتم يناثلا :فصلا نم ميلعتلا ةبلط
 

 .ةماعلا فادهلأا
 هاجتا يف ءاضفلاو كلفلا يف ةيساسأ ميهافم ءانب -1

 .ةقباسملا يف ةكراشملل دادعتسلاا

 يف مهاسي ام ةساردو علاطلاا ةلصاومل بلاطلا زيهجت -2
 .دايبملولأل ادادعتسا ءاضفلاو كلفلا لوح هميهافم قيمعت

 دايبملوأب نيمتهملا فغش معدت ةيملع ةدامب ناديملا ءارثإ -3
 .ءاضفلاو كلفلا

 .ةيملعلا تاقباسملاو دايبملولأا ةفاقث رشن -4

 .ةصاخلا فادهلأا
 .ةيوامسلا اكيناكيملا ىلع بلاطلا فرعتي نأ -1

 .نتوين نيناوق بلاطلا قبطي نأ -2
 رلبك نيناوق بلاطلا قبطي نأ -3
 يوركلا كلفلا ملع بلاطلا فرعي نأ -4
 يمجنلا روطتلا بلاطلا فرعي نأ -5

 ءاضفلا ثاحبأ ىلع بلاطلا علطي نأ -6
 لح يف اهسرد يتلا تامولعملا بلاطلا مدختسي نأ -7

 .لئاسملا

 .ةدراولا تلاكشملل ةركتبم لاولح بلاطلا مدقي نأ -8
 .عوضوم لك تحت ةيعرفلا تلااحلا نيب بلاطلا زيمي نأ -9

 لولحلا ةيقطنمو ةيلوقعم نم امئاد بلاطلا ققحتي نأ -10
 .اهمدقي يتلا
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 ةيوامسلا اكيناكيملا

Celestial mechanics 
 

 نتوين نيناوق
 

 لثم ،ةيعانصلاو ةيعيبطلا ةيوامسلا مارجلأا ةكرح عم ةيوامسلا اكيناكيملا لماعتت
 .ةيبذاجلا لوقح يف ةيعانصلا رامقلأا وأ رامقلأا وأ بكاوكلا
 يف ةبلص ةيفلخ ىلإ جاتحن ،ةيوامسلا اكيناكيملل قيمع مهف ىلع لوصحلا لجأ نم
 ،ةيكيسلاكلا اكيناكيملل ةيساسلأا ئدابملا زاجيإب صخلن انوعد .ةيكيسلاكلا اكيناكيملا
 .نتوين نيناوقب ةفورعملاو ،نتوين قاحسإ اهفشتكا يتلا

 
 رثؤت مل ام ميقتسم طخ يف كرحتت وأ ،نوكس ةلاح يف ماسجلأا عيمج .1
 .ةيجراخ ةوقل اهيلع 

 
 .ةيجراخ ةوق بلطتي ةعرسلا يف رييغتلا نأ نتوين رهظأ ،ةقباسلا راكفلأا سكع ىلع
 ةيعجرملا رطلأا ىمست احًيحص لولأا نتوين نوناق اهيف نوكي يتلا ةيعجرملا رطلأا
 ايًعجرم ارًاطإ احًيحص نوناقلا اذه هيف نوكي لا يذلا ماظنلا ىلع قلطيُ .يتاذلا روصقلل
 طخ يف اضًيأ سمشلا لوح رودت يتلا بكاوكلا كرحتت ،نوناقلل اقًفو .اعًراستم
 ،سمشلا لوح رودت اهلعجو راسملا اذه نع اهلزعل ةوق ىلإ ةجاحب يهف اذل ،ميقتسم
 .ةيبذاجلا ةوق يه ةوقلا هذهو

 
 .هتلتك عم اًيسكعو هيلع ةرثؤملا ةوقلا عم ايًدرط بسانتي مسجلا عراست نإ .2

 F = ma :ةغيصب نوناقلا نع ريبعتلا نكمي
 

  ،رادقملا سفن نم ىوقل نيمسجلا لاك عضخي ،نيمسج نيب لعافتلا يف .3
 .نيسكاعتم نيهاجتا يف نكلو

#,!𝐹 يلاتلا وحنلا ىلع نوناقلا اذه نع ريبعتلا نكمي = −𝐹#,!.  
 ببسب نكلو ،سمشلل ضرلأا بذج ةوق سفنب ضرلأا سمشلا بذجت ،لاثملا ليبس ىلع
 سمشلا نإف يناثلا نتوين نوناق بسحو ،ضرلأا ةلتك نم ريثكب ربكأ سمشلا ةلتك نأ

 .ضرلأا عراست نم ريثكب لقأ اهعراست نوكيس
 
 نكل ،اكيناكيملل ةيساسلأا نيناوقلا نم رخآ نوناق هنأ ىلع عبار نوناق فَّرعيُ ام ةًداع
 :هركذي مل نتوين

 
  نوكتس ةيلكلا ةوقلا نإف ،تقولا سفن يف ىوق ةدعل مسجلا ضرعت اذإ .４

 ةرثؤملا ةوقلا للحتت نأ نكمي ،لثملابو .ىوقلا هذهل تاهجتملا عومجم
 .ةيلصلأا ةوقلا يواسي ةهجتملا اهعومجم نوكي ىرخأ ىوق ىلإ مسجلا ىلع 
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 ةيدرفلا ىوقلا نأ اضًيأ نوناقلا ينعي .بكارتلا أدبم مساب اضًيأ نوناقلا اذه فرعيُ

 .ضعبلا اهضعب نع ةلقتسم
 
 ةوق نإف ،نوناقلا اذهل اقفو .Principia ،هباتك يف ةيبذاجلا نوناق اضًيأ نتوين فصو
 :يه r ةفاسم ىلع 2m و 1m امهيتلتك نيمسج نيب ةيبذاجلا

 

𝐹 = 𝐺
𝑚$𝑚%

𝑟%  

𝐺 :ماعلا ةیبذاجلا تباث وھ G ثیح = 6.67	 ×	10&$$		𝑚'𝑘𝑔&$𝑠&% 

 لقح نإ .ىرخلأا ماسجلأا عم اذه ةيبذاجلا لقح لعافتيو ،ةيبذاج لقحب مسج لكل
 امم ،ايًورك لثامتم اضًيأ وه )مجن ،لاثملا ليبس ىلع( لثامتم يورك مسجل ةيبذاجلا

 مجح فصو نكمي ،ةنيعم ةطقن دنع .مجنلا نم ةفاسملا ىلع طقف دمتعي هنأ ينعي
 ةطاسبب اننكمي ةيبذاجلا لقح ةوق مادختساب .)g( ةيبذاجلا لاجم ةوقب لقحلا اذه
 :ةلحرملا كلت يف مسجلا ىلع ةرثؤملا ةوقلا نع ريبعتلا

𝑔 = 𝐺
𝑚$

𝑟% 	→ 	𝐹 = 𝑚%𝑔 

𝑔 ضرلأا حطس ىلع ةيبذاجلا لقح ةوق ،لاثملا ليبس ىلع = 9.81	𝑚/𝑠%. 

 

 .ةطقاسلا ةركلا عراست لاثملا ليبس ىلع ،اضًيأ (𝑊) لغش ةيبذاجلا ةوق جتنت نأ نكمي

 ةيبذاج لقحل بيرقتلا مدختسن ام ابلاغ ،ضرلأا حطس نم ةبيرقلا رهاوظلا فصو دنع
 ليبس ىلع .طيسب لكش يف ةيبذاجلا عضو ةقاط ءاطعإ نكمي ،ةلاحلا هذه يف .تباث
 لغشلل ةيواسم ضرلأا نم ةعوفرملا ةركلل ةنماكلا ةيبذاجلا ةقاط نوكتس ،لاثملا

 لوذبملا لغشلا نإف ،ةتباث ةيبذاجلا لقح ةوق نأ ضرتفيُ هنلأ ارًظن .اهعفر يف لوذبملا

 ةوقك ةطاسبب هؤاطعإ نكمي ℎ عافترا ىلإ ضرلأا نم ةعوفرم 𝑚 اهتلتك ةرك ىلع

𝑊  :ةحازلإا يف ةبورضم = 𝐹𝑑	 = 	𝑚𝑔ℎ. 
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 :لاثم
2 سمشلا ةلتك نا تملع اذا سمشلا حطس ىلع عراستلا بسحأ × 10'(	𝑘𝑔  اهرطق فصنو 

695500	𝑘𝑚 
 
 ىلع لصحن ةفورعملا تباوثلاب ضيوعتلابو ةيبذاجلا عراستل يلاتلا فيوعتلا مادختسا نكمي
 :ةجيتنلا

𝑔 = 𝐺
𝑚$

𝑟%  

 

𝑔 = 6.67	 ×	10&$$		𝑚'𝑘𝑔&$𝑠&%
2 × 10'(	𝑘𝑔

(695	500	000	𝑚)% = 275.8	𝑚/𝑠% 

	
	

Newton’s laws 
 
Celestial mechanics deals with the motion of natural and artificial celestial 
bodies, like planets, moons or satellites in gravitational fields.  
In order to have a deep understanding of celestial mechanics, we need a solid 
background in classical mechanics. Let us briefly summarize the most 
fundamental principles of classical mechanics, which were discovered by 
Isaac Newton, and hence are called Newton’s laws. 
 

1. All bodies are at rest, or moving in a straight line if they are not 
subjected to an external force. 

Contrary to previous ideas, Newton showed that a change in velocity 
requires an external force. The reference frames in which Newton’s first law 
is true are called inertial reference frames. A system in which this law is not 
true is called an accelerating reference frame. According to the law, planets 
orbiting the Sun would also be moving in a straight line, so they need a force 
to deflect them from that path, and that force is gravity. 
 

2. The acceleration of a body is directly proportional to the force 
acting on it and inversely proportional to its mass. 

 
The law can be expressed as a formula: 𝐹 = 𝑚𝑎 
 

3. In the interaction between two bodies, both bodies are subjected 
to forces of the same magnitude but in opposite directions. 
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This law can be expressed as 𝐹!,# = −𝐹#,! . For example, the Sun attracts the 
Earth with the same force as the Earth attracts the Sun, but because the 
Sun’s mass 
is significantly greater than the Earth’s, Newton’s second law states that 
the Sun’s 
acceleration will be significantly less than the Earth’s. 
 
A fourth law is usually defined as another of the fundamental laws of 
mechanics, but it was not formulated by Newton: 
 

4. If a body is subjected to several forces at the same time, the net 
force will be the vector sum of these forces. Similarly, a force 
acting on a body can be decomposed into arbitrary forces whose 
vector sum is the original force. 

 
This law is also known as the principle of superposition. The law also means 
that the individual forces are independent of each other. 
 
Newton also described the law of gravity in his book, the Principia. According 
to this law, the gravitational force between two bodies of mass 𝑚$ and 𝑚% 
at a distance 𝑟	 apart is 

𝐹 = 𝐺
𝑚$𝑚%

𝑟%  

 
Where G is the universal gravitational constant: 𝐺 = 6.67	 ×
	10&$$		𝑚'𝑘𝑔&$𝑠&% 
Every body with mass creates a gravitational field, and this gravitational 
field interacts with other bodies. The gravitational field of a spherically 
symmetric body (say, to a good approximation, a star) is also spherically 
symmetric, which means that it depends only on the distance from the star. 
At a given point, the magnitude of this field can be described by the 
gravitational field strength (𝑔). Using the gravitational field strength we can 
simply express the force acting on the body at that point: 
 

𝑔 = 𝐺
𝑚$

𝑟% 	→ 	𝐹 = 𝑚%𝑔 
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For example, the strength of the gravitational field on the surface of the 
Earth is 𝑔 = 9.81	𝑚/𝑠%. 
 
The gravitational force can do work as well, just think of the acceleration of 
a dropped ball. When describing phenomena near the surface of the Earth, 
we often use the approximation of a constant gravitational field. In this 
case, the gravitational potential energy can be given in a simple form. For 
example, the gravitational potential energy of a ball lifted from the ground 
will be equal to the work done in lifting it. Since the gravitational field 
strength is assumed to be constant, the work done on a ball of mass 𝑚 lifted 
from the ground to a height ℎ can be given simply as the force times the 
displacement: 𝑊 = 𝐹𝑑	 = 	𝑚𝑔ℎ. 
 
 

Example: 
 
Calculate the gravitational acceleration on the surface of the Sun. The mass of the 
Sun is 2 × 10'(kg and its radius is 695 500 km.  
 
We can use the following definition of the gravitational acceleration: 𝑔 = 𝐺 *!

+"
. 

Substituting the values given and the universal gravitational constant we get the 
result: 

𝑔 = 6.67	 ×	10&$$		𝑚'𝑘𝑔&$𝑠&%
2 × 10'(	𝑘𝑔

(695	500	000	𝑚)% = 275.8	𝑚/𝑠% 

	
 رلبك نيناوق
 فيك ةثلاثلا هنيناوق فصت .ةيوامسلا اكيناكيملل ةيساسلأا نيناوقلا رلبك سناهوي غاص

 اهركذ مت امك اهحيضوتب لاًوأ انه موقنس .رخآ مسج ةيبذاج ريثأت تحت ماسجلأا كرحتت
 .ربكأ لكشب اهميمعت نكمي ناك اذإ ام شقانن مث لصلأا يف
 

 ىدحإ يف سمشلا عقت )ةيواضيب( ةيجيلهإ تارادم يف بكاوكلا رودت :لولأا نوناقلا
 .اهزكارم طاقن
 
 نيب طقف لمعت ةيبذاجلا ةوق تناك اذإ :)ةقد رثكأ لكشبو( ماع لكشب اهعضول

  ةيروحم ةطقن عم يطورخم عطقم لكش ىلع تارادم يف كرحتت اهنإف ،نيمسج
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 عطق وأ صقان عطق وأ ةرئاد يطورخملا مسقلا نوكي نأ نكمي .ماظنلا ةلتك زكرم يف
 سمشلا ماظنل ةلتكلل كرتشملا زكرملا لوح ضرلأا رودت ،اذكهو .دئاز عطق وأ ئفاكم
 ،)ىرخلأا ةيوامسلا مارجلأا عيمجل ةيبذاجلا ريثأت يلاحلا تقولا يف لاًهاجتم( ضرلأاو

 كرحتتو .سمشلا لخاد اًضيأ عقي هنكلو ،سمشلا ةلتك زكرم عم امًامت قباطتي لا يذلاو
 ببسب نكلو ،ضرلأا ةيبذاج ببسب ةطقنلا هذه لوح يجليلهإ رادم يف اًضيأ سمشلا
 .ريغص بذبذت لكش ىلع لاإ رهظي لا اذه نإف ،ةلتكلا يف ريبكلا نيابتلا

 
 نوكي ىوتسم ىلع طاقنلا نم ةعومجم هنأ ىلع اًيضاير صقانلا عطقلا فيرعت نكمي
 لكشلا حضوي .اتًباث )ةيروحملا طاقنلا ىمست( نيتنيعم نيتطقن نم اهتافاسم عومجم
 .ةيسيئرلا هرصانعب صقانلا عطقلا هاندأ

 

 
 
 ضعبلا امهضعب ىلع نامسج ارثا اذإ .كلذ نم دعبأ ىلإ لولأا رلبك نوناق ميمعت اننكمي

 يف ناكرحتيس امهنإ لوقلا اننكميف ،ىرخلأا ىوقلا عيمج لهاجت متو ،ةيبذاجلا ةوقب
 يه ةيطورخملا عطاقملا .ةلتكلل كرتشم زكرم لوح يطورخم عطقم تاذ تارادم
 ةيواز ىلع ادًامتعا .طورخملل عطق قيرط نع اهيلع لوصحلا متي ةيوتسم تاينحنم

 ،)طورخملا ةدعاقل يزاوملا عطقلا( ةرئادلا :تاينحنملا نم عاونأ ةعبرأ كانه ،عطقلا
 و ،)يبناجلا حطسلا تادلوم دحلأ يزاوملا عطقلا( ئفاكملا عطقلاو صقانلا عطقلاو
 تأدب اذإ هنأ ىرن نأ اننكمي .هاندأ لكشلا رظنا ،)ارًادحنا رثكأ لكشب عطق( دئازلا عطقلا
 ،ئفاكم عطقو ةدحاو ةرئاد ىلع لوصحلا طقف اننكمي ،ةنيعم ةطقن يف عطقلا

 .ةفلتخملا ةدئازلا عطقلاو ةيواضيبلا لاكشلأا نم يئاهن لا ددع ءاشنإ اننكمي نكلو
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 للاخ ةيواستم تاحاسم عطقي سمشلاو بكوكلا نيب لصاولا طخلا :يناثلا نوناقلا
 .ةيواستم ةنمزأ
 
 عرسأ لكشب كرحتي بكوكلا نإف ،سمشلا نم برقلاب رصقأ نوكي طخلا اذه نلأ ارًظن

 .سمشلا نع دعتبا املك أطابتيو سمشلل برقا ناك املك
 

 
 
 لوح مسا امًومع يزكرملا مسجلا نم يجيلهلإا رادملا يف ةطقن برقأ ىلع قلطيُ

 ةراشلإا اننكميف ،زكرملا يف مسجلا وه ام ىلع ديكأتلا اندرأ اذإ ،pericenter زكرملا
 .رخآ مسج يلأ وأ ،مجنل وأ ،سمشلا وأ ،ضرلأل ءاوس ضيضحلا ةطقن هنأ ىلع هيلإ
 ،سمشلا وأ ،ضرلأل ءاوس جولأا ىمست يزكرملا مسجلا نع دعبلأا ةطقنلا نإف ،لثملابو
 يف عرسأ لكشب بكاوكلا كرحتت ،يناثلا رلبك نوناقل اًقفو .رخآ مسج يلأ وأ ،مجنل وأ

 .جولأا يف أطبأو ضيضحلا
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 رواحملا لاوطأ تابعكم عم بكاوكلل ةيرادملا تارتفلا تاعبرم بسانتت :ثلاثلا نوناقلا

 .اهتارادمل ةيسيئرلا هبش
 

	 :ةغيصك تباث = 𝑎'/𝑇%. ضرلأا تانايب لدبتسن انوعد ؟تباثلا اذه وه ام نكل: AU = 1 Ea 
)AU يلاوح ،ضرلأاو سمشلا نيب ةفاسملا طسوتم يواست يتلاو ،ةيكلفلا ةدحولا يه 

1.5	 ×	10$$𝑚(، = 1 ET انمدختسا اذإ 1 وه تباثلا نإف يلاتلابو ،ةنس 𝐴𝑈'/𝑦𝑒𝑎𝑟% 

 .يسمشلا ماظنلا يف بكاوكلا عم تاباسحلل اًدج بسانم اذهو .ةدحوك

 هبسحن نأ بجي فيك يأ ،ةيرظنلا نم تباثلا اذه قاقتشا متي فيك ىرن انوعد نلآا نكل
 هل M هتلتك مجن لوح رودي اًبكوك كرابتعا يف عض ،كلذب مايقلل .ةماعلا ةلاحلا يف
 يه ةيزكرملا ةيبذاجلا ةوق ،ةلاحلا هذه يف .مجنلا ةكرح لهاجتو ،r يرادم رطق فصن

 :ةيبذاجلا ةوق

𝑚𝜔%𝑟 = 𝐺 *,
+"

, 

 ةجيتنلا ىلع لصحن ،ω = 2π / T ةقلاعلا مادختسابو .𝑚 بكوكلا ةلتك فذح نكمي ثيح

 :ةيلاتلا

𝑟'

𝑇% =
𝐺𝑀
4𝜋%. 

 ،ةيروحملا ةطقنلا دنع ةلتكلا زكرم انعضوو يجليلهإ رادم مادختساب باسحلاب انمق اذإ
 رادملل يسيئرلا هبش روحملا ىلإ a ريشي ،انه .لاًيلق ةلدعم نوكت ةقلاعلا هذه نإف
 .يجيلهلإا

𝑎'

𝑇% =
𝐺(𝑀 +𝑚)

4𝜋% . 

 ةلتك لامهإ ةًداع نكميف ، 𝑀 نم ريثكب رغصأ 𝑚 نوكت ام ابًلاغ هنلأ ارًظن ،كلذ عمو

 يوامسلا مسجلا ةلتك نمضتي تباثلا نأ اًمئاد ظحلا نكل .ريغصلا يوامسلا مسجلا

 ةعومجملا جراخ بكوكل ثلاثلا رلبك نوناق مادختساب باسحلا ديرت تنك اذإ كلذل ،ريبكلا
 تاونسلاب تقولا سيقت تنك ول ىتح ،لاثملا ليبس ىلع ،رخآ مجن لوح رودي ةيسمشلا
 !1 ةرورضلاب نوكي نل تباثلا نإف ،ةيكلف تادحوب ةفاسملاو
 

 
 
 

 



	
	

75 نم 14 ةحفصلا 	
 

 
 

 
 عض .ثلاثلا نوناقلل ةيداع ريغ ةجيتن ودبي ام ىلع يه ةيوامسلا ةيكيناكيملا ةقرافملا
 ناتيئاضفلا ناتبكرملا كرحتت .ةيئاضف ةطحمب ةيئاضف ةبكرم ءاسرإ ةلواحم كرابتعا يف
 ةنيفسلاب قاحلل لاًيلق عارسلإا يقطنملا نم .رادملا سفن يف امهنلأ ةعرسلا سفنب

 ةيكرحلا هتقاط عراستلا ززعي ،ىرخأ ةيحان نم .لاًيلق ةيئاضفلا ةطحملا فلخ ةيئاضفلا
 دادزتس ،ثلاثلا رلبك نوناقل اقًفو ،كلذ ىلع ةولاع .ربكأ رطق فصن رادم يف اهعضيو
 ىتح ،كلذل .ةرتفلا ةلاطإو رطقلا فصن ةدايز عم طقف ةيئاضفلا ةطحملا نم ةفاسملا

 .ةياهنلا يف ضفخنتس ةيرادملا اهتعرس نإف ،ةيئاضفلا ةبكرملا عيرستب انمق ول
 

 :لاثم
  ةيرادملا ةرتفلا نأ ةقيقح مادختساب ،لحز رادمل يسيئرلا هبش روحملا بسحا

 .ةنس 29.46 يه
 

%𝑎'/𝑇  مادختسا اننكمي ،سمشلا لوح لحز رودي امدنع =  نمزلا سايقب انمق اذإ   1

 لوصحلا اننكمي بيترت ةداعإ دعبو .ةيكلفلا تادحولاب يسيئرلا هبش روحملاو تاونسلاب
 :ةجيتنلا ىلع

𝑎 = 𝑇%/' = 9.54	𝐴𝑈. 
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Kepler’s	laws	
	
Johannes	 Kepler	 formulated	 the	 basic	 laws	 of	 celestial	mechanics.	 His	 three	

laws	describe	how	objects	move	under	the	gravitational	influence	of	another	body.	
Here	we	are	going	to	first	state	them	as	they	have	been	stated	originally	and	then	
discuss	if	they	can	be	generalized	further.	
	
1st	 law:	The	planets	orbit	 in	elliptical	orbits	with	 the	Sun	 in	one	of	 their	 focal	

points.	
	
To	put	it	more	generally	(and	more	precisely):	if	only	gravitational	force	acts	

between	two	bodies,	they	move	in	conic	section-shaped	orbits	with	the	focal	point	
at	the	centre	of	mass	of	the	system.	The	conic	section	can	be	a	circle,	an	ellipse,	a	
parabola	or	a	hyperbola.	Thus,	the	Earth	orbits	around	the	common	centre	of	mass	
of	the	Sun-Earth	system	(neglecting	for	the	moment	the	gravitational	influence	of	
all	other	celestial	bodies),	which	does	not	coincide	exactly	with	the	Sun’s	centre	of	
mass	but	is	also	located	inside	the	Sun.	And	the	Sun	is	also	moving	in	an	elliptical	
orbit	around	this	point	due	to	the	Earth’s	gravity,	but	because	of	the	large	mass	
difference,	this	only	appears	as	a	small	wobble.	
	
An	ellipse	can	be	defined	mathematically	as	the	set	of	points	on	a	plane	whose	

sum	of	distances	from	two	given	points	(called	focal	points)	is	constant.	The	figure	
below	shows	an	ellipse	with	its	main	elements.		
	

	
	
We	can	generalize	Kepler’s	first	 law	even	further.	If	two	bodies	interact	with	

each	other	gravitationally,	and	all	other	forces	are	disregarded,	we	can	say	that	
they	will	move	 in	 conic	 section	orbits	 around	a	 common	centre	of	mass.	Conic	
sections	are	plane	curves	obtained	by	intersecting	a	cone.	Depending	on	the	angle	
of	the	cut,	there	are	four	types	of	curves:	circle	(cut	parallel	to	the	base	of	the	cone),	
ellipse,	parabola	(cut	parallel	to	one	of	the	generatrices	of	the	lateral	surface)	or	 
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hyperbola	(cut	at	an	even	steeper	angle),	see	the	figure	below.	You	can	see	that	

if	you	start	the	cut	at	a	given	point,	you	can	only	get	a	single	circle	and	parabola,	
but	you	can	create	an	infinite	number	of	different	ellipses	and	hyperbolae. 
	

	
	
2nd	law:	A	line	segment	joining	a	planet	and	its	star	sweeps	out	equal	areas	
during	equal	intervals	of	time.	
	
As	this	line	segment	is	shorter	near	the	star,	the	planet	must	move	faster	than	

farther	away	from	the	Sun,	when	the	segment	is	longer.	
	

	
	
The	closest	point	of	an	elliptical	orbit	to	the	central	body	is	generally	called	the	

pericenter,	if	we	want	to	emphasise	what	is	the	body	in	the	center	we	can	refer	to	
it	as	perigee	(Earth),	perihelion	(Sun),	periastron	(a	star),	etc.	Similarly,	the	point	
farthest	from	the	central	body	is	called	the	apocenter,	or	apogee	(Earth),	aphelion	
(Sun),	 apoastron	 (a	 star),	 etc.	According	 to	Kepler’s	2nd	 law,	planets	move	 the	
fastest	in	perihelion	and	the	slowest	in	aphelion.	
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3rd	law:	The	squares	of	the	planets’	orbital	periods	are	proportional	to	the	cubes	

of	the	length	of	the	semi-major	axes	of	their	orbits.	
	
As	a	formula:	𝑎'/𝑇% =	constant.	But	what	is	this	constant?	Let	us	substitute	the	

Earth’s	data:	𝑎. = 1	AU	(AU	is	the	astronomical	unit,	which	is	equal	to	the	average	
Sun-Earth	distance,	approximately	1.5	 ×	10$$	m),	𝑇. = 1	year,	so	the	constant	is	
1	 if	we	 use	𝐴𝑈'/𝑦𝑒𝑎𝑟% 	as	 a	 unit.	 This	 is	 very	 convenient	 for	 calculations	with	
planets	in	the	Solar	System.		

 
But	now	let	us	see	how	this	constant	is	derived	from	the	theory,	i.e.	how	we	should	
calculate	it	in	the	general	case.	To	do	this,	consider	a	planet	orbiting	a	star	of	mass	
𝑀	having	an	orbital	radius	𝑟,	and	neglect	the	motion	of	the	star.	In	this	case,	the	
centripetal	force	is	the	gravitational	force:	

𝑚𝜔%𝑟 = 𝐺 *,
+"
,	

where	the	mass	of	the	planet,	𝑚	can	be	eliminated.	Using	the	relation	ω	=	2π/T	
,	we	get	the	following	result:	

𝑟3

𝑇2
= 𝐺𝑀
4𝜋2.	

	
If	we	calculate	with	an	elliptical	orbit	and	place	the	centre	of	mass	at	the	focal	

point,	this	relationship	is	slightly	modified.	Here,	𝑎	denotes	the	semi-major	axis	of	
the	elliptical	orbit.	

𝑎3

𝑇2
= 𝐺(𝑀+𝑚)

4𝜋2 .	

However,	since	it	is	often	the	case	that	𝑚	is	much	smaller	than	𝑀,	the	mass	of	
the	small	celestial	body	can	usually	be	neglected.	But	always	note	that	the	constant	
includes	 the	mass	 of	 the	 large	 celestial	 body,	 so	 if	 you	want	 to	 calculate	 with	
Kepler’s	third	law	for	an	exoplanet	orbiting	another	star,	for	example,	even	if	you	
measure	time	in	years	and	distance	in	astronomical	units,	 the	constant	will	not	
necessarily	be	1!	
The	celestial	mechanical	paradox	is	an	apparently	unusual	result	of	the	third	

law.	 Consider	 attempting	 to	 dock	 a	 spacecraft	 with	 a	 space	 station.	 The	 two	
spacecraft	are	moving	at	 the	same	speed	because	 they	are	 in	 the	same	orbit.	 It	
makes	sense	to	accelerate	a	little	to	catch	up	if	the	spaceship	is	a	little	behind	the	
space	station.	Acceleration,	on	the	other	hand,	boosts	its	kinetic	energy	and		
	
places	 it	 into	a	 larger-radius	orbit.	Furthermore,	 in	accordance	with	Kepler's	

third	 law,	 the	 distance	 from	 the	 space	 station	will	 only	 increase	 as	 the	 radius	
increases	and	the	period	lengthens.	Therefore,	even	if	we	speed	up	the	spacecraft,	
its	orbital	velocity	will	eventually	decrease.	
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Example:	
Calculate	the	semi-major	axis	of	Saturn’s	orbit,	using	the	fact	that	its	 
orbital	period	is	29.46	years.		
	
As	Saturn	orbits	around	the	Sun,	we	can	use	𝑎'/𝑇% = 1	if	we	measure	the	period	
in	years	and	the	semi-major	axis	in	astronomical	units.	Rearranging	the	formula,	
we	can	get	the	result:	

𝑎 = 𝑇%/' = 9.54	𝐴𝑈.	

	
 
 ةينوكلا تاعرسلا
 نم بورهلل وأ ضرلأا لوح رادم لوخدل خوراصلا اهب عراستي نأ بجي يتلا ةعرسلا دعت
 .ةيوامسلا اكيناكيملل ةيلمعلا تاقيبطتلا يف ةمساح ةلأسم ضرلأاب لصتم رادم
 قلطت عفدملا فئاذق نأ ،نتوين اهب ماق ةريهش ةيركف ةبرجت عم اًيشامت ،ضرتفن انعد
 رمتستس .ديازتم لكشب ربكأ ةيادب تاعرسب قهاش لبج قوف عوضوم عفدم نم ايًقفأ

 يتلا ةعرسلا ىلإ لصت ىتح ربكأو ربكأ تافاسم ىلع طوقسلا يف ةيعفدملا فئاذق
 رادم يف ةفوذقملا رمتستس .ةرئاد يف رودت لب ،ضرلأا ىلع اهيف طقست دعت مل
 تاعرسبو ،ىلعأ ةعرس اهتيطعأ اذإ قلاطلإا عقوم يف ضيضحلا ةطقن عم يواضيب
 .اًدئاز وأ اًئفاكم اًرادم لخدتس ريثكب ىلعأ

 

 
 

 يواست ةيزكرملا ةيبذاجلا ةوق ،يرئادلا رادملا يف ؟يرئادلا رادملا ىلإ لصن ةعرس يأب
 :ةيبذاجلا ةوق

𝐺
𝑀𝑚
𝑅% = 𝑚

𝑣%

𝑅 			→ 			𝑣 = I𝐺𝑀
𝑅  
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 يذلا عقوملا عفترا املك كلذل ،رادملا رطق فصن يه 𝑅 و ضرلأا ةلتك يه 𝑀 ثيح

 .ةيعفدملا فئاذق اهيلإ لصت نأ بجي يتلا ةعرسلا تضفخنا ،هنم ةبرجتلا ءارجإ متي

𝑅( ضرلأا حطس نم اهقلاطإ متي يتلا ماسجلأا عضول ةبولطملا ةعرسلا ىمست = 𝑅.( 

 .ةيناث / مك 7.9 يلاوح اهتميق .ةيرئادلا ةعرسلا وأ ىلولأا ةينوكلا ةعرسلاب رادملا يف
 نلأ اًرظن ؟ئفاكملا ناريطلا راسم ىلإ لوصولل اهيلإ بهذت نأ بجي يتلا ةعرسلا ام

 وأ بورهلا ةعرس مساب فرعيُ هنإف ،ةعرسلا هذهب اًيبذاج اًديقم دعي مل فوذقملا راسم
 راسم لعجي امم ،اًمامت اًرفص يواست ةفيذقلل ةيلكلا ةقاطلا .ةيناثلا ةينوكلا ةعرسلا
 .ةيواستم تايمكب ةيكرحلا ةقاطلاو ةيبذاجلا عضو ةقاط كلتمت .اًديرف ئفاكملا عطقلا
 حبصتل ،اهراسم للاخ تابثب ضفخنتس اهتعرس نأ كلذ ىلع بترتي ،كلذ ىلإ ةفاضلإاب

 .ةياهنلالا دنع اًرفص ةياهنلا يف

1
2𝑚𝑣

% − 𝐺
𝑀𝑚
𝑅 = 0			 → 			𝑣 = I2𝐺𝑀

𝑅  

 ضرلأا حطس ىلع هتميق غلبت .ىلولأا ةعرسلا 2√ يه ةيناثلا ةينوكلا ةعرسلا ،نذإ

 .ةيناث/مك 11.2 يلاوح
 فرعن دق ؟يرئادلا رادملا لوخدل اهتعرس يفكت لا يتلا تافوذقملل ثدحيس اذام
 سيل اذه نكل ،ةيوناثلا ةسردملا يف ءايزيفلا يف انتامولعم ىلع ءًانب اًئفاكم اًراسم
 ءانثأ ةتباث لظت ةيبذاجلا عراست ةميق نأ ةيضرف ىلع ئفاكملا راسملا دمتعي .احًيحص

 مسج ةكرح حيضوتل نكلو ،رجح يمر دنع قئلالا بيرقتلل ةبسنلاب حيحص اذه .ةلحرلا
 لاجم ةوق يف تاريغتلا رابتعلاا يف ذخأت نأ بجي ،حيحص لكشب ةليوط ةفاسمل رفاسي
 .لصلأا يف جولأا ةطقن عم ،صقانلا عطقلا نم اءًزج راسملا نوكيس كلذل .ةيبذاجلا

 
 رادم يف رودي يعانص رمقل ماع لكشب ثدحيس ام صيخلت اننكمي ،جئاتنلا هذه نم

𝑣)  تضفخنا وأ ةيضرعلا هتعرس تداز اذإ يرئاد = 𝑣1!2 = 𝐺𝑀/𝑅): 

 .هزكرم هرابتعاب يلاحلا هناكم عم يواضيب رادم يف نوكيسف ،هئاطبإب انمق اذإ

 نوكتسف ،ةيلاحلا اهتعرس 2√ ىلإ لصت مل اهنكلو ةيسامملا هتعرس ةدايزب انمق اذإ

 .اهطيحمك ةمدقملا ةطقنلا عم يواضيب رادم يف

 يلاحلا عضوملا نوكيو ،اًئفاكم اًرادم لخدي فوسف ،2√ لدعمب هتعرس ةدايزب انمق اذإ

 .هسأر وه
 .هسأرك ةيلاحلا ةطقنلا عم اًيدئاز اًراسم عبتت فوسف ،رثكأ اهعيرستب انمق اذإ
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 مسجلا ديوزت متي ثيح راسملا تلايدعتو تاكرحلا ىلإ وتلل انرظن ،يلاحلا تقولا يف
 ةيرطقلا تاعرسلا نع ثدحتن امدنع .(tangential velocity) ةيسامم ةعرسب طقف

radial velocity)(، اقحلا هذه نع ملعتن فوس .ةبوعص رثكأ ةلكشملا حبصت. 

 فوذقملا يطعي امم ،ضرلأا نارود رابتعلاا يف ذخأي لا ةينوكلا تاعرسلا باسح نأ ظحلا
 .ةيئادتبا ةعرس لعفلاب

 
	

Cosmic	velocities	
How	quickly	a	rocket	must	be	accelerated	to	enter	an	orbit	around	the	Earth	or	

to	escape	an	Earth-bound	orbit	 is	 a	 critical	 issue	 in	 the	practical	 application	of	
celestial	mechanics.	
	
Let's	assume,	 in	keeping	with	a	 famous	 thought	experiment	by	Newton,	 that	

cannonballs	 are	 fired	 horizontally	 from	 a	 cannon	 positioned	 atop	 a	 towering	
mountain	 at	 increasingly	 larger	 beginning	 velocities.	 The	 cannonballs	 will	
continue	to	fall	down	at	larger	and	larger	distances	until	they	reach	a	velocity	at	
which	they	no	longer	fall	to	the	ground	but	instead	orbit	in	a	circle.	The	projectile	
will	proceed	in	an	elliptical	orbit	with	the	perigee	point	at	the	site	of	launch	if	you	
give	it	even	higher	velocity,	and	at	much	higher	velocities	it	will	enter	a	parabolic	
or	hyperbolic	orbit.	
	

 
 
 
At	 what	 speed	 do	 we	 reach	 the	 circular	 orbit?	 In	 the	 circular	 orbit,	 the	

centripetal	force	is	equal	to	the	force	of	gravity: 
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𝐺
𝑀𝑚
𝑅% = 𝑚

𝑣%

𝑅 			→ 			𝑣 = I𝐺𝑀
𝑅 	

where	𝑀	is	the	mass	of	the	Earth	and	𝑅	is	the	radius	of	the	orbit,	so	the	higher	
the	hill	from	which	the	experiment	is	performed,	the	lower	the	speed	which	the	
cannonballs	must	reach.	The	speed	required	to	put	the	bodies	launched	from	the	
Earth’s	 surface	 (𝑅 = 𝑅.)	 into	orbit	 is	 called	 the	 first	 cosmic	 velocity	 or	circular	
velocity;	its	value	is	approximately	7.9	km/s.	
How	 quickly	 must	 you	 go	 to	 attain	 the	 parabolic	 flight	 path?	 Because	 the	

projectile's	trajectory	is	no	longer	gravitationally	constrained	at	this	speed,	it	is	
known	as	escape	velocity	or	second	cosmic	velocity.	The	projectile's	total	energy	is	
exactly	 zero,	making	 the	parabolic	 trajectory	unique.	 It	 possesses	 gravitational	
potential	energy	and	kinetic	energy	in	equal	amounts.	Additionally,	it	follows	that	
its	 speed	will	 steadily	 decrease	 during	 its	 course,	 eventually	 becoming	 zero	 at	
infinity.	

1
2𝑚𝑣

% − 𝐺
𝑀𝑚
𝑅 = 0			 → 			𝑣 = I2𝐺𝑀

𝑅 	

So	the	second	cosmic	velocity	is	√2-times	the	first	one.	Its	value	at	the	surface	
of	the	Earth	is	approximately	11.2	km/s.	
What	will	 happen	 to	 the	 projectiles	whose	 speed	 is	 insufficient	 to	 enter	 the	

circular	orbit?	We	may	claim	a	parabolic	route	based	on	our	high	school	physics	
courses,	but	this	is	not	correct.	The	parabolic	path	is	based	on	the	premise	that	the	
value	 of	 gravitational	 acceleration	 remains	 constant	 during	 the	 voyage.	 This	 is	
true	to	a	decent	approximation	when	throwing	a	pebble,	but	to	correctly	explain	
the	motion	of	a	body	travelling	a	long	distance,	you	must	account	for	changes	in	
the	gravitational	field	strength.	The	trajectory	will	therefore	be	part	of	an	ellipse,	
with	the	apogee	point	at	the	origin.	
From	these	results,	we	can	summarise	in	general	what	will	happen	to	a	satellite	

orbiting	 in	 a	 circular	 orbit	 (𝑣 = 𝑣1!2 = 𝐺𝑀/𝑅) 	if	 its	 tangential	 velocity	 is	
increased	or	decreased:	

If	we	slow	it	down,	it	will	be	on	an	elliptical	orbit	with	the	current	place	as	its	
apocentre.	
● If	 we	 increase	 its	 tangential	 velocity	 but	 it	 doesn't	 reach	√2 	times	 its	

present	velocity,	it	will	be	on	an	elliptical	orbit	with	the	provided	point	as	
its	pericentre.	

● If	we	increase	its	speed	by	a	factor	of		√2,	it	will	enter	a	parabolic	orbit,	with	
the	current	position	as	its	vertex.	

● If	 you	 accelerate	 it	more,	 it	will	 follow	 a	 hyperbolic	 trajectory	with	 the	
present	point	as	its	vertex.	
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For	the	time	being,	we've	just	looked	at	motions	and	trajectory	modifications	

where	 the	 body	 is	 only	 supplied	with	 tangential	 velocity.	When	we	 adjust	 the	
radial	component	of	the	velocity,	the	issue	becomes	more	difficult.	We	will	learn	
about	these	later.	
Note,	 that	 the	calculation	of	cosmic	velocities	does	not	 take	 into	account	 the	

Earth’s	rotation,	which	already	gives	the	projectile	an	initial	velocity. 
 
	
 ةصاخ تارادم

 
 ،كلذ عمو ،ضرلأا لوح تارادملا نم ةعونتم ةعومجم يف يعانصلا رمقلا عضو نكمي
 .ةفلتخم بابسلأ اهريغ نم ةمءلام رثكأ تارادملا ضعب نإف
 
 :ضرلأا عم نمازتملا رادملا

 ،دحاو موي دعب ،كلذل ةجيتن .ضرلأا نارود ةرتف يواست ةيرادم ةرتف اهل تارادم هذه
 عم نمازتملا رادملا نوكي نأ نكمي .عقوملا سفن نم اًيئرم يعانصلا رمقلا نوكيس
 ىوتسملاب قلعتي اميف( ليملا نم ردق يأ عم ،)فارحنا يأ عم( اًيجيلهإ وأ اًيرئاد ضرلأا
 يعانصلا رمقلا نأ ينعي امم ،مك 42164 رادملل يسيئرلا هبش روحملا غلبي .)يئاوتسلاا
 .ضرلأا حطس قوف مك35786 اًمئاد نوكي يرئاد رادم يف رودي ضرلأا عم نمازتملا
 للاخ نيعم يفارغج عقوم نم اهتعباتم دنع ضرلأا عم ةنمازتملا ةيعانصلا رامقلأا
 ةينامث لكش هبشي لاًكش روصت ام اًبلاغ اهنكلو ناكملا سفن يف اًمئاد رهظت لا ،راهنلا

 .ضرلأا ىلع دهاشملل (8)
 
 :ضرلأل ةبسنلاب تباثلا رادملا
 

 ىوتسملا يف يعانصلا رمقلا رودي ثيح ،ضرلأا عم نمازتملا رادملل ةصاخ ةلاح هذه
 نوكي ام اًمئاد .دحاو موي ةدمل يرئاد رادم يف ،ضرلأا نارود هاجتا سفن يف يئاوتسلاا
 ىلع ةطقن يأ نم عضوملا سفن يف ضرلأل ةبسنلاب تباثلا رادملا يف يعانصلا رمقلا
 جاتحي لا ةيضرلأا لابقتسلاا ةطحم يئاوه نلأ تلااصتلاا رامقلأ اًدج بسانم وهو ،ضرلأا
 سفن اًمئاد يئاضفلا نويزفيلتلا تايئاوه هجاوت ببسلا اذهلو( راهنلا ءانثأ كيرحتلا ىلإ
 .مك 42164 رادملا رطق فصن غلبي .)هاجتلاا

 

Special	orbits 

A	satellite	can	be	positioned	in	a	variety	of	orbits	around	the	Earth,	however,	
certain	orbits	are	more	favourable	than	others	for	various	reasons.	
Geosynchronous	orbit:	
These	are	orbits	having	an	orbital	period	equal	to	the	rotational	period	of	the	

Earth.	As	a	result,	after	one	day,	the	satellite	will	be	visible	from	the	same	location.	
The	geosynchronous	orbit	can	be	circular	or	elliptical	(with	any	eccentricity),	with	
any	magnitude	of	inclination	(with	respect	to	the	equatorial	plane).	The	orbit's	 
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semi-major	 axis	 is	 42	164	km,	which	means	 that	 a	 geosynchronous	 satellite	

orbiting	in	a	circular	orbit	is	always	35	786	km	above	the	Earth's	surface.	
When	 observed	 from	 a	 certain	 geographic	 position	 during	 the	 day,	

geosynchronous	satellites	do	not	always	appear	in	the	same	spot	but	often	depict	
a	figure-of-eight-like	form	to	the	viewer	on	the	ground.	
Geostationary	orbit:	
This	is	a	special	case	of	the	geosynchronous	orbit,	 in	which	the	satellite	goes	

around	in	the	equatorial	plane	in	the	same	direction	as	the	Earth's	rotation,	in	a	
circular	orbit	with	a	one-day	period.	A	satellite	in	geostationary	orbit	is	always	in	
the	 same	 position	 from	 any	 point	 on	 Earth,	 which	 is	 very	 convenient	 for	
communication	 satellites	 because	 the	 antenna	 of	 the	 ground	 receiving	 station	
does	not	need	to	be	moved	during	the	day	(which	 is	why	satellite	TV	antennas	
always	face	the	same	direction).	The	orbit's	radius	is	42	164	km.	
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 يوركلا كلفلا ملع

Spherical astronomy 
 
 
 ؟سمشلا لوح ضرلأا كرحتت فيك

 يواسي يسيئر هبش روحمب لكشلا يواضيب رادم يف سمشلا لوح ضرلأا كرحتت

1.5 ×  ماع يف .طقف فيفط فارحنا هل ،ةيلاثم ةرئاد نم ادًج بيرق رادملا .م 10$$

 اذل .ويلوي يف جولأاو رياني يف ضيضحلا ىلإ لصتو ،سمشلا لوح ضرلأا رودت ،دحاو

 يذلا وه رخآ تقو يف دعبأو ام تقو يف سمشلا ىلإ برقأ اننأ ةقيقح سيلف
 ةركلا فصن ةرارح عفري ريثأتلا اذه نإف ،كلذ نع اضوع ؛لوصفلا ريغت يف ببستي
 نلايم ببسب ةجتان لوصفلا .فيصلا يف لايلق دربيو ءاتشلا يف ام دح ىلإ يلامشلا

 طقسي ،سمشلا لوح ضرلأا رودت امدنع ،كلذل ةجيتنو .°23.5 ةميقب ضرلأا نارود روحم

 .ةفلتخم اياوزب انبكوك ىلع سمشلا ءوض
 

 
 
 .ضعبلا اهضعب نع لوصفلا لصفت ضرلأل ةصاخ عضاوم ةعبرأ كانه ،ةيكلفلا ةيحانلا نم
 رهشلأا ىلع ءًانب لوصفلا لصفل ةيديلقتلا ةقيرطلا عم امًامت قفاوتت لا هذه نأ ظحلا

 ،ويام 31 ىلإ سرام 1 نم عيبرلاو ،رياربف 28 ىلإ ربمسيد 1 نم ءاتشلا يأ( ميوقتلا يف
 .)كلذ ىلإ امو
 
 ىلعأ يف سمشلا هيف نوكت يذلا تقولا وه :)وينوي 21-20( يفيصلا بلاقنلاا

 لوطأ مويلا نوكي ذئنيحو يلامشلا ةركلا فصن نم اهيلإ رظنلا دنع ءامسلا يف اهتاجرد
  لكشب سمشلا عطست .)يبونجلا ةركلا فصن نم هيلإ رظنلا دنع احًيحص سكعلا نوكي(
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𝜑 يفارغجلا ضرعلا طخ ىلع يدومع =  .ناطرسلا رادمب طخلا اذه ىمسيو ،23.5°

 ناطرسلا ىمست ةبكوك يف تناك مسلاا قلاطإ دنع تناك سمشلا نأ ةيمستلا ببسو
 ،ةيكلفلا ةيحانلا نم .)تقولا كلذ يف روثلا جرب يف نلآا اهنكلو( يفيصلا بلاقنلاا يف
 .فيصلا ةيادب مويلا اذه لثمي

 
 لامشلا نم سمشلا كرحتت امدنع مويلا اذه يف :)ربمتبس 23 - 22( يفيرخلا لادتعلاا
 اهيمسن .ءاوتسلاا طخ ىلع يدومع لكشب عطستف ،ءاوتسلاا طخ ربعت ،بونجلا ىلإ
 فلاغلا تاريثأت لهاجت( مويلا اذه يف ةيواستم يلايللاو راهنلا لاوطأ نلأ لادتعلاا

 قرشت( برغلا يف طبضلاب برغتو قرشلا يف ديدحتلا هجو ىلع سمشلا قرشت .)يوجلا
 رهشلأا يف ابونج دعبأو رهشلا اذه قبست يتلا رهشلأا يف لامشلا ىصقأ يف برغتو
 نم ىلولأا ةطقنلا مساب فورعملا عضوملا يف سمشلا .)رهشلا اذه يلت يتلا

 ةبكوك يف ايًلاح دجوي يذلاو ،مويلا اذه يف يفيرخلا لادتعلاا ةطاسبب وأ ،نازيملا
 .يكلفلا فيرخلا ةيادب يفيرخلا لادتعلاا لثمي .ءارذعلا
 
 ،بونجلا يف ةطقن ىصقأ ىلإ سمشلا لصت :)ربمسيد 22-21( يوتشلا بلاقنلاا

𝜑 يفارغجلا ضرعلا طخ ىلع يدومع لكشب ةقرشم =  ضرعلا طخ ىمسي .23.5°−

 ةبكوك يف سمشلا نوكت ،يكلفلا ءاتشلا نم لولأا مويلا اذه يف .يدجلا رادمب اذه
 .يلامشلا ةركلا فصن يف ةنسلا يف ةليل لوطأ يه هذه .سوقلا

 
 ىلإ بونجلا نم يوامسلا ءاوتسلاا طخ سمشلا ربعت :)سرام 21-20( يعيبرلا لادتعلاا

 يف اهتظحلام نكمي .)ءاوتسلاا طخ ىلع يدومع لكشب ىرخأ ةرم عطست( لامشلا
 نلآا عقت يتلاو ،يعيبرلا لادتعلاا مساب اضًيأ ةفورعملاو ،لمحلا جرب نم ىلولأا ةطقنلا
 .يكلفلا عيبرلا نم لولأا مويلا وه اذه .توحلا ةبكوك يف

 
 نيمهم ضرع يطخ ديدحت نكمي ،يدجلاو ناطرسلا رادمو ءاوتسلاا طخ نع رظنلا فرصب
 يه ةيلامشلا ةيبطقلا ةرئادلا .سمشلل ةرهاظلا ةيوامسلا ةكرحلا للاخ نم نييفاضإ
 هتحت وأ قفلأا قوف يسمشلا صرقلا زكرم عقي نأ نكمي ثيح يبونج ضرع طخ ىصقأ

 لا ماع لك لقلأا ىلع ادًحاو امًوي كانه نأ ينعي اذه .ةعاس 24 ةدمل رمتسم لكشب
  يف .لامشلا ىصقأ يفو ةيلامشلا ةيبطقلا ةرئادلا يف سمشلا هيف برغت وأ قرشت
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 نوكت امدنع ،يفيصلا بلاقنلاا :طقف دحاو موي كانه ،ةيلامشلا ةيبطقلا ةرئادلا
  قفلأا تحت سمشلا نوكت امدنع يوتشلا بلاقنلااو مويلا لاوط قفلأا قوف سمشلا

 

 دادزت تارتفلا نإف ،يلامشلا بطقلل كلوصو ىتحو ،لاًامش كرفس ءانثأ .مويلا لاوط
 .ماع فصن ةدمل ملاظلا مث ماع فصن ةدمل اًراهن نوكيو لاًوط
 :للاخ نم ةيلامشلا ةيبطقلا ةرئادلا ضرع طخ ديدحت نكمي

𝜑 = 90° − 23.5° = 66.5°. 
 وحنلا ىلع يبونجلا ةركلا فصن يف ةيبونجلا ةيبطقلا ةرئادلا فيرعت اننكمي ،لثملابو

 :يلاتلا

φ = 𝜑 = 90° − (−23.5°) = 	−66.5°. 

 

 
 

 
 تابلاقنلاا )هاندأ( ءاتشلاو )هلاعأ( فيصلا يف ضرلأا ةءاضإ
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How does the Earth move around the Sun? 
The Earth moves around the Sun on an elliptical orbit with a semi-major axis 
of 𝑎 = 1.5 × 10$$ m. The orbit is very close to a perfect circle, it only has a 
slight eccentricity. In one year, the Earth circles the Sun, reaching perihelion 
in January and aphelion in July. So it is not the fact that we are closer to the 
Sun at one point in time and farther away at another that causes the 
seasons to change; rather, this effect heats the northern hemisphere 
somewhat in winter and cools it slightly in summer. The seasons are caused 
by the 23.5° tilt of the Earth’s axis of rotation. As a result of this, as the 
Earth orbits the Sun, sunlight falls on our planet at different angles. 
 

 
 
Astronomically speaking, four special positions of the Earth separate the 
seasons from each other. Note, that these do not exactly correspond to the 
traditional way of separating the seasons based on the months in the 
calendar (i.e. winter is 1 December to 28 February, spring is 1 March to 31 May, 
etc.). 
 
Summer solstice (20-21 June): this is when the Sun is highest in the sky when 
viewed from the northern hemisphere and when the day is longest (the 
opposite is true when viewed from the southern hemisphere). The Sun is 
shining perpendicular to the geographical latitude 𝜑 = 23.5°, this latitude is 
called the Tropic of Cancer. It gets its name from the fact that when it was 
named, the Sun was in the constellation called Cancer at the summer solstice 
(but is now in Taurus at that time). In astronomical terms, this day marks the 
beginning of summer. 
 
Autumn equinox (22-23 September): on this day as the Sun moves from north 
to south, it crosses the line of the Equator, so it shines perpendicular to the 
Equator. We name it the equinox because the lengths of the days and nights  
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are equal on this day (ignoring the atmospheric effects). The Sun rises 
precisely in the east and sets precisely in the west (it rises and sets farther 
north in the months preceding this one and farther south in the months 
following this one). The Sun is in the position known as the First point of 
Libra, or simply the Autumn equinox on this day, which is  
 
currently in the constellation Virgo. The autumn equinox marks the start of 
astronomical autumn. 
 
Winter solstice (21-22 December): the Sun reaches its southernmost point, 
shining perpendicular to the geographic latitude of 𝜑 = −23.5°. This latitude 
is called the Tropic of Capricorn. On this first day of astronomical  
 
winter, the Sun is in the constellation Sagittarius. This is the longest night 
of the year in the northern hemisphere. 
 
Vernal equinox (20-21 March): The Sun crosses the celestial equator from 
south to north (shining again perpendicular to the Equator). It may be 
observed at the First point of Aries, also known as the Vernal equinox, which 
is now located in the constellation Pisces. This is the first day of 
astronomical spring. 
 
Aside from the Equator, the Tropics of Cancer, and Capricorn, two additional 
important latitudes can be identified by the apparent celestial motion of the 
Sun. The Arctic Circle is the southernmost latitude where the centre of the 
solar disc can lie above or below the horizon continuously for 24 hours. This 
means that there is at least one day every year when the Sun does not rise 
and at least one day when it does not set at the Arctic Circle and farther 
north. In the Arctic Circle, there is just one such day: the summer solstice, 
when the Sun is above the horizon all day and the winter solstice when it is 
below the horizon all day. As you travel north, these intervals lengthen until, 
at the North Pole, it is day for half a year and then darkness for half a year.  
 
The latitude of the Arctic Circle can be given by: 
 

𝜑 = 90° − 23.5° = 66.5°. 
 
Similarly, we can define the Antarctic Circle in the southern hemisphere as: 
 

𝜑 = 90° − (−23.5°) = 	−66.5°. 
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Illumination	of	the	Earth	on	the	summer	(above)	and	winter	(below)	solstices	

 
 
 ؟ضرلأا لوح رمقلا كرحتي فيك
 
 عم مك 384400 غلبي يسيئر هبش روحم عم يجليلهإ رادم يف ضرلأا لوح رمقلا رودي
 ىمسي يذلاو ،يسمشلا ماظنلل يساسلأا ىوتسملاب ةنراقم .ريغص يزكرم فلاتخا
 يذلاو ،سمشلا لوح ضرلأل يرادملا ىوتسملا وه( ةيفوسكلا ةرئادلا وأ سمشلا ريسم
 ةيفلخ مامأ سمشلا هيلع كرحتت يذلا ىوتسملا وه ضرلأا ىلع بقارم روظنم نم

 مجحلا نإف ،يزكرملا فلاتخلال ارًظن .°5 يلاوح غلبي رمقلا رادم ليم نإف ،)موجنلا

 نيب ٪12 ةبسنب قرف كانه :تقولا للاخ اضًيأ نافلتخي ةيوازلا هتعرسو رمقلل يرهاظلا

 .ضيضحلاو جولأا يف رمقلل يرهاظلا رطقلا
 .احًوضو رمقلا رهاظم رثكأ وه اذه نوكي امبرو ،ىرخأ ىلإ ةليل نم رمقلا لكش ريغتي
 ،هيلع طقاسلا سمشلا ءوض سكعي هنكلو هب صاخ ءوض هل سيل رمقلا نأ ىلإ عجري اذه
 ضرلأا نم هيلإ رظنيُ امك سمشلا هئيضت يذلا رمقلا ءزج نإف ،ضرلأا لوح رودي امنيبو

 .رارمتساب ريغتي
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 اذه .امًامت سمشلا هاجتا سفن يف رمقلا عقي ،ديدجلا رمقلا دنع هنأ لكشلا حضوي

 رمقلاو تقولا رورم عم .ضرلأا نم يئرم ريغ وهو ،ءاضم هنم طقف ءزجلا اذه نأ ينعي
 لصنو ،ءيضملا هفصن نم ربكأو ربكأ ءزج ةيؤر يف أدبن ،عضوملا اذه نع ادًيعب كرحتي

 امدنع .ءامسلا يف سمشلاو رمقلا نيب °90 ةيواز كانه نوكت امدنع لولأا عبرلا ىلإ

 هذه دعب .،اًردب نوكيو رمقلا لامتكا ىرن ،ىرخأ ةرم سمشلاو ضرلأاو رمقلا فطصي
 ةرم ادًيدج ارًمق اًريخأو ريخلأا هعبر ىلإ لصيو ،صقانتلا يف رمقلا ءوض أدبي ،ةلحرملا

 .ىرخأ
 
 نارودلا ةرتف سفن يه هسفن لوح هنارود ةرتف نأ ينعي اذهو ،نمازتم رمقلا نارود

 هذه .ضرلأا نم رمقلا هجو سفن امًئاد ىرن ،ةصاخلا ةيصاخلا هذه ببسب .ةيرادملا
 رمقلل ةيلصلأا نارودلا ةرتف نع رظنلا ضغب .يسمشلا ماظنلا يف ةردان تسيل ةرهاظلا
 ةرتفلا ةميق سفن ىلع ليوط تقو دعب هطبضتس رزجلاو دملا ىوق نإف ،هنيوكت دنع
 ماظنلا يف ةيرادملا ةقلغملا رامقلأاب ىمسي ام ىلع ىرخلأا ةلثملأا ضعب .ةيرادملا

 بكوك رامقأ ةعبرأ ربكأ ىلإ ةفاضلإاب )سوميدو سوبوف( خيرملا رامقأ يه يسمشلا
 .)يوليلاج رامقأ مسا اضًيأ اهيلع قلطنو ؛وتسيلاكو ،ديميناجو ،ابورويو ،ويأ( يرتشملا
 
 امم ،بكوكلا كلذكو ،ربكلأا مسجلا ىلع رزجلاو دملا ىوق لمعت ،لاحلا ةعيبطب

 ىلع .ريثكب أطبأ رييغتلا اذه نوكيس ،كلذ عمو .اضًيأ هنارود ةعرس ريغت يف ببستي
 حبصي ىتح اذه رمتسيس .ماع لك ابًيرقت ةيناثوركيم 20 لدعمب ،مايلأا لوطت ،ضرلأا

 هذه دنع .)تاعاس 7و امًوي 27 يلاوح( رمقلل ةيرادملا ةرتفلا سفن وه ضرلأا موي لوط

 سفنب رخلآا هجاوي امًئاد امهلاك :نوراش هرمقو وتولب لثم رمقلاو ضرلأا ودبتس ،ةطقنلا
 .بناجلا



	
	

75 نم 31 ةحفصلا 	
 

 
 

 
 .ملاعلا لوح ةفلتخملا تافاقثلا نم ديدعلا لبق نم تقولا طبضل رمقلا ةكرح مدختست
  نلآا ."رهشلا" ديدحتل ةددعتم تلاامتحا كانه كلذل ،ةفلتخم قرط ةدعب رمقلا كرحتي
 

 فرعتنس مادختسلاا ديق ىرخأ ةثلاث كانه نكلو ،ءلاؤه نم نينثا نع ملعتن فوس
 .اقًحلا اهيلع
 

 سفن يف نوكيل رمقلا هقرغتسي يذلا تقولا وه اذه :يمجنلا يرمقلا رهشلا .1
 يلاوح اهلوط غلبي ،رمقلل ةيرادملا ةرتفلا يه هذه .ةديعبلا موجنلل ةبسنلاب عقوملا

 .تاعاس 7و امًوي 27
 ،لاثملا ليبس ىلع( رمقلل نيتقباطتم نيتلحرم نيب تقولا :ينارتقلاا يرمقلا رهشلا .2

 رمقلا نارود ءانثأ سمشلا لوح رودت ضرلأا نلأ ارًظن .)نييلاتتم نيديدج نيرمق نيب تقولا
 ةبسنلاب عقوملا سفن ىلإ لوصولل تقولا نم ديزم ىلإ جاتحي رمقلا نإف ،ضرلأا لوح
 ءزجلا ىلإ رظنا( موجنلاب ةنراقم )ضرلأا نم ةلحرملا سفن يف ىريُ نأ يأ( سمشلل
 يرمقلا رهشلا نإف ،كلذل ةجيتن .)هلاعأ لكشلا نم نميلأا بناجلا ىلع ريغصلا رضخلأا

 .ةعاس 12و امًوي 29 ،يمجنلا يرمقلا رهشلا نم امًوي 2.2 يلاوحب لوطأ ينارتقلاا
 فوسخو سمشلا فوسك :رمقلا ةكرحب ناطبترم نارخآ نايسيئر نايكلف ناثدح كانه
 .رمقلا
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 سمشلا نوكت امدنع طقف رمقلا فوسخو سمشلا فوسك نم لك ثدحي نأ نكمي
 فوسك ثدحي .ةدحاو ةماقتسا ىلع رخآ ىنعمب وأ ةاذاحم ةلاح يف رمقلاو ضرلأاو
 وأ( سمشلا صرق بجح ىلإ يدؤي امم ،ضرلأاو سمشلا نيب رمقلا نوكي امدنع سمشلا

 سمشلا نيب ضرلأا نوكت امدنع رمقلا فوسخ ثدحي ؛ضرلأا نم هتيؤر دنع )هنم ءزج
 .ضرلأا لظ يف )لقلأا ىلع ايًئزج( رمقلا نوكيو ،رمقلاو
 

 ةرهاظلا هذه ىرن اننإف ،سمشلا فوسك دنع ضرلأاو سمشلا نيب عقي رمقلا نلأ ارًظن
 رمقلا لامتكا دنع طقف ،لثملابو .ديدجلا رمقلا يأ ةيرمقلا رهشلأا تايادب دنع طقف
 افًوسك ىرن لا اذاملف ،ادًج ردان اذه اذامل نكل .رمقلا فوسخ ةيؤر اننكمي اًردب نوكيو
 رادم ليم يف ةباجلإا نمكت ؟لمتكم رمق لك رمقلل افًوسخو ديدج رمق لك سمشلل

 تقو يف )ةيفوسكلا ةرئادلا( سمشلا ريسم نم ادًج ابًيرق رمقلا نوكي نأ بجي :رمقلا
 ةرئادلا( سمشلا راسم عم قبطنم رمقلا رادم ناك ول .)رمقلا لامتكا وأ( ديدجلا رمقلا
 .رهش لك يأ ديدج رمق لك دنع سمشلا فوسك ثدحيسف ،)ةيوفسكلا
 

 يلكلا سمشلا فوسك نيب قرفلا مهف اننكمي ،هلاعأ لكشلا ىلع ةرظن ءاقلإب
  دصارلا نوكي كلذل ،امًامت سمشلا رمقلا بجحي ،سمشلل يلكلا فوسكلا ءانثأ .يئزجلاو
 

 
 لاإ يلك فوسك لك ةظحلام نكمي لا .لظلا ىمسي رمقلا لظ نم ءزج يف ضرلأا ىلع
 رمقلاو سمشلا ةاذاحم متي لا ،يئزجلا فوسكلا يف .ضرلأا حطس نم قيض قاطن نم
 عقي ،ةلاحلا هذه يف .سمشلا صرق نم ءزج ىوس رمقلا يطغي لا كلذل ،امًامت ضرلأاو

 .لظلا هبش ةقطنم يف ضرلأا ىلع دصارلا
 
 متي ،رمقلل يلكلا فوسخلا يف .ايًئزج وأ ايًلك افًوسخ رمقلا فوسخ نوكي نأ نكمي

 ضرلأا نأ ينعي امم ،ضرلأا لظ نم ةجتانلا لظلا ةقطنم ةطساوب امًامت رمقلا فوسخ
 فوسكلا سكع ىلع .رمقلا ىلع ةطقن يأ نم اهتيؤر دنع امًامت سمشلا بجحت
 مل ول .رمقلل يلكلا فوسخلا ءانثأ ىتح ،امًامت ءامسلا نم رمقلا يفتخي لا ،يسمشلا
 فلاغلا نم سمشلا ءوض ضعب نكل ،لاحلا وه اذه نوكيسف ،يوج فلاغ ضرلأل نكي

 ءزج لخدي ،رمقلل يئزجلا فوسخلا يف .رمقلا ىلإ اسكعنم لصي لازي لا ضرلأل يوجلا
 .لظلا ةقطنم رمقلا نم طقف
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How	does	the	Moon	move	around	the	Earth?	
The	Moon	orbits	the	Earth	in	an	elliptical	orbit	with	a	semi-major	axis	of	384	

400	km	and	a	small	eccentricity.	Compared	to	the	fundamental	plane	of	the	Solar	

System,	called	the	ecliptic	(this	is	the	orbital	plane	of	the	Earth	around	the	Sun,	

which	from	the	perspective	of	an	observer	on	Earth	is	the	plane	on	which	the	Sun	

moves	 in	 front	 of	 the	 background	 of	 the	 stars),	 the	 orbit	 of	 the	 Moon	 has	 an	

inclination	 of	 about	 5°.	 Due	 to	 the	 eccentricity,	 the	 Moon’s	 apparent	 size	 and	

angular	velocity	also	vary	over	a	period:	there	is	a	12%	difference	between	the	

apparent	diameter	of	the	Moon	in	apogee	and	perigee.	

The	 Moon's	 form	 changes	 from	 night	 to	 night,	 which	 is	 perhaps	 its	 most	

noticeable	aspect.	This	is	due	to	the	Moon	having	no	light	of	its	own	but	reflecting	

that	of	the	Sun,	and	as	it	revolves	around	the	Earth,	the	part	of	the	Moon	lighted	

by	the	Sun	as	viewed	from	the	Earth	varies	continually.	

	

	
	

The	 figure	 shows	 that	 at	 the	 new	moon,	 the	Moon	 lies	 exactly	 in	 the	 same	

direction	as	the	Sun.	That	means	that	only	that	part	of	it	is	illuminated,	which	is	

not	visible	 from	the	Earth.	As	time	passes	and	the	Moon	moves	away	from	this	

position,	 we	 start	 seeing	 a	 larger	 and	 larger	 fraction	 of	 its	 illuminated	 half,	

reaching	the	first	quarter	when	there	is	a	90°	angle	between	the	Moon	and	the	Sun	

in	the	sky.	When	the	Moon,	the	Earth	and	the	Sun	line	up	again,	we	see	a	full	moon,		
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when	we	see	the	full	illuminated	half	of	the	Moon.	After	this	phase,	the	Moon	

starts	to	wane,	reaching	its	last	quarter	and	finally	a	new	moon	again.	

	

The	Moon	has	a	synchronous	rotation,	which	means	that	its	rotational	period	is	

the	same	as	its	orbital	period.	Because	of	this	special	property,	we	always	see	the	

same	face	of	the	Moon	from	the	Earth.	This	phenomenon	is	not	rare	in	the	Solar	

System.	 No	 matter	 what	 the	 original	 rotation	 period	 of	 a	 moon	 was	 at	 its	

formation,	after	a	long	time	the	tidal	forces	will	adjust	it	to	the	same	value	as	its	

orbital	period.	Some	other	examples	of	similar,	so-called	tidally	locked	moons	in	

the	Solar	System	are	the	two	Moons	of	Mars	(Phobos	and	Deimos)	as	well	as	the	

four	largest	moons	of	Jupiter	(Io,	Europa,	Ganymede	and	Callisto;	we	also	call	these	

the	Galilean	moons).		

	

Naturally,	the	tidal	forces	act	on	the	larger	body,	so	the	planet	as	well,	which	

causes	its	rotational	velocity	to	change	as	well.	However,	this	change	will	be	much	

slower.	On	Earth,	 the	 days	 are	 getting	 longer	 and	 longer,	 approximately	 by	 20	

microseconds	every	year.	This	will	continue	until	the	length	of	the	Earth	day	is	the	

same	as	the	orbital	period	of	the	Moon	(approximately	27	days	and	7	hours).	At	

that	point,	the	Earth	and	the	Moon	will	look	like	Pluto	and	its	moon	Charon:	both	

of	them	always	face	the	other	one	with	the	same	side.		

	

The	movement	of	the	Moon	has	been	used	for	timekeeping	by	many	different	

cultures	around	the	world.	The	Moon	moves	in	many	different	ways,	so	there	are	

multiple	possibilities	to	define	a	“month”.	Now	we	are	going	to	learn	about	two	of	

these,	but	there	are	three	more	in	usage	that	we	will	get	to	know	later.	

	

1. Sidereal	month:	 this	 is	 the	 time	 it	 takes	 for	 the	Moon	 to	be	 in	 the	 same	

position	relative	to	the	faraway	stars.	This	is	the	orbital	period	of	the	Moon,	

its	length	is	approximately	27	days	and	7	hours.		

	



	
	

75 نم 35 ةحفصلا 	
 

	

	

2. Synodic	month:	The	time	between	two	identical	phases	of	the	Moon	(e.g.	

the	time	between	two	consecutive	new	moons).	Since	the	Earth	orbits	the	

Sun	while	the	Moon	is	going	around	the	Earth,	the	Moon	needs	more	time	

to	reach	the	same	position	relative	to	the	Sun	(i.e.	to	be	seen	in	the	same	

phase	from	the	Earth)	than	relative	to	the	stars	(see	the	little	green	section	

at	the	right	side	of	the	figure	above).	As	a	consequence,	the	synodic	month	

is	about	2.2	days	longer	than	the	sidereal	month,	29	days	and	12	hours.	

	

There	are	two	other	major	astronomical	events	associated	with	the	movement	

of	the	Moon:	the	solar	and	lunar	eclipses.	
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Both	the	solar	and	the	lunar	eclipse	can	only	occur	when	the	Sun,	the	Earth	and	

the	Moon	are	aligned.	A	solar	eclipse	occurs	when	the	Moon	is	positioned	between	

the	Sun	and	the	Earth,	obscuring	the	Sun's	disc	(or	a	portion	of	it)	when	seen	from	

Earth;	a	lunar	eclipse	occurs	when	the	Earth	is	positioned	between	the	Sun	and	

the	Moon,	and	the	Moon	is	(at	least	partially)	in	the	shadow	of	the	Earth.	

	

Because	the	Moon	is	between	the	Sun	and	the	Earth	at	solar	eclipses,	we	only	

see	this	phenomenon	at	new	moons.	Similarly,	only	at	a	full	moon	can	we	see	a	

lunar	eclipse.	But	why	is	this	so	rare,	why	don’t	we	see	a	solar	eclipse	every	new	

moon	and	a	lunar	eclipse	every	full	moon?	The	answer	lies	in	the	inclination	of	the	

Moon’s	orbit:	the	Moon	must	be	very	close	to	the	ecliptic	at	the	time	of	the	new		

	

moon	(or	full	moon).	If	the	Moon	orbited	exactly	on	the	ecliptic,	we	would	really	

be	able	to	admire	the	solar	eclipse	at	every	new	moon.	

Taking	a	look	at	the	figure	above,	we	can	understand	the	difference	between	

total	and	partial	solar	eclipses.	During	a	total	solar	eclipse,	the	Moon	completely	

eclipses	 the	Sun,	 so	 the	observer	on	Earth	 is	 in	 the	part	of	 the	Moon’s	 shadow	

called	the	umbra.	Each	total	eclipse	can	only	be	observed	from	a	narrow	band	of	

the	Earth’s	surface.	In	a	partial	eclipse,	the	Sun,	Moon	and	Earth	are	not	completely	

aligned,	so	the	Moon	only	covers	part	of	the	Sun’s	disk.	In	this	case,	the	observer	

on	Earth	is	located	in	the	penumbra	part	of	the	shadow.	

	

A	lunar	eclipse	can	also	be	a	total	or	a	partial	one.	In	a	total	lunar	eclipse,	the	

Moon	is	completely	eclipsed	by	the	umbra	part	of	the	Earth’s	shadow,	meaning	

that	 the	 Earth	 completely	 blocks	 the	 Sun	when	 viewed	 from	 any	 point	 on	 the	

Moon.	 Unlike	 a	 solar	 eclipse,	 the	 Moon	 does	 not	 “disappear”	 from	 the	 sky	

completely,	 even	 during	 a	 total	 lunar	 eclipse.	 If	 the	 Earth	 did	 not	 have	 an	

atmosphere,	 this	would	 be	 the	 case,	 but	 some	 of	 the	 sunlight	 from	 the	 Earth’s	

atmosphere	still	reaches	the	Moon.	In	a	partial	lunar	eclipse,	only	part	of	the	Moon	

enters	the	umbra.	
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 يمجنلا روطتلا

Stellar evolution 

 
 ؟موجنلا أشنت فيك
 
 للاخ نم ةجتان اهتقاط ،امزلابلاو نخاسلا زاغلا نم ةمخض ةيورك ماسجأ يه موجنلا
 .ةفلتخملا ةيلولأا لتكلا تاذ موجنلا روطت لصفلا اذه فشكتسي .ةيوونلا تلاعافتلا
 
 ةيمجن اياقبو موجن نم ،ةنابتلا برد ةرجم لثم ،ةيجذومنلا ةينوزلحلا تارجملا نوكتت

 ةجرد ىلع ءًانب ةيمجن نيبلا ةداملا فينصت نكمي .ةيمجن نيب ةدامو ةملظم ةدامو
 ةباحسلا يه موجنلا نيب ةداملا لاكشأ دربأ .اهيف نيجورديهلا ةلاح ددحت يتلا ةرارحلا
 ةداع موجنلا دلوتُ .تائيزجلا نيوكتل ةيفاك ةجردب اًدراب نيجورديهلا نوكي ثيح ،ةيئيزجلا

 10 يلاوح ةرارحلا ةجرد نوكت ثيح ،ةيئيزجلا بحسلا هذه نم ةفاثك رثكلأا ءازجلأا يف
 ةدلاو وأ تأشن رثأتت اًبلاغ .موجنلا ةدلاو قطانم برقأ نم رابجلا ميدس دعي .نفلك
 نم ةمدصلا تاجوم وأ ،ةيئيزجلا بحسلا مداصت لثم ،ةيجراخلا ثادحلأا ببسب موجنلا
 .تارجملا تامادطصا نم رزجلاو دملا ىوق وأ ،مظعلأا رعتسملا تاراجفنا

 
 رابجلا ميدس

 

 .زاغلا طغض ىلع ةيبذاجلا بلغتت امدنع صلقتت ةفاثك رثكأ ىون ةيئيزجلا بحسلا جتنت
 نيوكت ىلإ يدؤي امم ،موجنلا نيوكتل شمكنتو ،رغصأ ءازجأ ىلإ مويغلا مسقنت دق
 ثيحب ةيفاك ةجردب ةباحسلا زكرم نخسي امدنع .ةحوتفملا ديقانعلاو عيماجملا
 نزاوتلا ىلإ لصت اهنإف ،يبذاجلا شامكنلاا نم ديزملا نع اهطغض فقوتي

  عراستي ،ةباحسلا صلقتت امدنع .يلولأا مجنلاب جتانلا مرجلا ىمسي .يكيتاتسورديهلا
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 قفدتت .يلولأا مجنلا لوح يمكارت صرق ليكشتو اهحيطست ىلإ يدؤي امم ،اهنارود
 جامدنا أدبي .اهترارح ةجردو اهطغض نم ديزي امم ،صرقلا نم يلولأا مجنلا ىلإ ةداملا
 رئاظن دحأ وه مويريتويدلا .نفلك نويلم ىلإ ةرارحلا ةجرد لصت امدنع مويريتويدلا

 ةاون نوكتت امنيب ،دحاو نوتورب ةطاسبب يه نيجورديهلا ةرذ ةاون .نيجورديهلا
 ىونلا ىلإ ريشن فوس يلي اميفو انه .دحاو نورتوينو دحاو نوتورب نم مويريتويدلا
 ددعلا( اهتلتك ددعو )نيجورديهلل H ،لاثملا ليبس ىلع( اهراصتخاب ةفلتخملا ةيرذلا

 اهددعو ،ىرسيلا ةيولعلا ةناخلا يف )ةاونلا يف تانورتوينلاو تانوتوربلل يلامجلإا
 .ىرسيلا ةيلفسلا ةناخلا يف )ةاونلا يف تانورتوينلاو تانوتوربلا ددع يلامجإ( يرذلا

 رهظيُ .نيجورديه ةاون هنأ H فرحلا حضوي ؟ 𝐻%$	 ةيرذ ةاون ينعت اذام ،لاثملا ليبس ىلع

  ةناخلا يف 1 مقرلا
 ددع نأ ةيولعلا ةناخلا يف 2 مقرلا رهظيو ،دحاو نوتورب ىلع يوتحي هنأ ةيلفسلا

 دحاو نوتورب اهب ةاونلا هذه لثم نأ ينعي اذهو .2 وه هتانورتوين ددع دئاز هتانوتورب
 ةاون ىلع ةللادلل اهمادختسا اننكمي يتلا ةملاعلا يه هذهف ،مث نمو .دحاو نورتوينو
 نيجورديهلا عم مويريتويدلا جامدنا نع جتني ،زيمرتلا اذه ملعت دعب .مويريتويدلا
 :مويليهلا

	$%𝐻	+	$$𝐻	 → 	 	%'𝐻𝑒 

 .يلولأا مجنلا نيخست يف أدبتس يتلا ،ةقاطلا ةيلمعلا هذه دلوت
 قاطنلا يف اًيئرم يلولأا مجنلا حبصي ،اًديعب نيطيحملا زاغلاو رابغلا مظعم راشتنا درجمب
 لصت ىتح شامكنلاا يف رمتسي .يسيئرلا لسلستلا لبق مجن هيلع قلطيو يرصبلا

 نيجورديهلا جامدنا ىلإ يدؤي امم ،نفلك نييلام 10 ىلإ لخادلا يف ةرارحلا ةجرد
 .يسيئر لسلستم مجن ىلإ هليوحتو
 

 80 نم برقي ام يأ( ةيسمش ةلتك 0.08 يلاوح نم لقلأا ةلتكلا تاذ ةيلولأا موجنلا

2 يلاوح ،انسمش ةلتك يه ةدحاولا ةيسمشلا ةلتكلا ،يرتشملا بكوك ×  )مجك )'10

 جامدنا أدبي نأ نكمي ،كلذ عمو .نيجورديهلا جامدنا زيفحتل ةيفاك ةءافكب نخست لا

 ىمست .يرتشملا بكوك ةرم 13 ىلإ لصت لتك تاذ ةيوامسلا مارجلأا يف مويريتويدلا
 بكاوكلا نيب ةلصفنم ةقبط لكشتو ،ةينبلا مازقلأاب يلتكلا قاطنلا اذه يف ماسجلأا
 يساسأ لكشب عشت ،نوللا ةيدامر وأ ةرمحلا ىلإ ةبراض ةينبلا مازقلأا ودبت .موجنلاو
 .ءارمحلا تحت ةعشلأا فيط لاجم يف
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 Hertzsprung-Russell Diagram لسار-جنوربزتريه ططخم
 مسري هنإ .كلفلا ملع يف عيزوت وأ ططخم مهأ )HRD( لسار-جنوربزتريه ططخم دعي
 ىلع ةلادك )نيبيرق انك اذإ هسايق اننكمي يذلاو ،يرهوجلا اهناعمل( موجنلا ناعمل
 امم ،هباشتم لكشب ططخملا اذه يف عزوتت لا موجنلا نأ رظنلل تفلالا .اهترارح ةجرد

 يف موجنلا فنصت .اهناعملو موجنلا ةرارح ةجرد نيب ةقلاعلا نم اًعون كانه نأ ينعي
 .موجنلا ةايح نم ةفلتخم لحارم لثمت ،ةددحم تاعومجم ىلإ ينايبلا مسرلا
 

 
 
 ،اًقحلا اذه نع ديزملا ملعتنس .اهترارح ةجردب طبترم موجنلا نول نإف ،HRD يف ىرت امك

 ةجرد عافترا عمو ،ءارمح ةدرابلا موجنلا نوكت نأ مهملا نم ،يلاحلا تقولا يف نكلو
 نأ نكمي موجنلا نأ اضًيأ ينعي اذه .ءاقرزو ءاضيبو ءارفصو ،ةيلاقترب اًموجن ىرن ةرارحلا
 .ةيدرو وأ ءارضخ نوكت نأ نكمي لا ،لاثملا ليبس ىلع .طقف نافلتخم نانول اهل نوكي
 ةقيرطلا نع فلتخي )HRD( لسار-جنوربزتريه ططخمل يقفلأا روحملا نأ ظحلان نأ بجي

 ،رسيلأا بناجلا ىلع عقت ىلعلأا ةرارحلا تاجرد :ةًداع روحملا اذه اهب مدختسن يتلا
 .نيميلا ىلع سيلو
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 ةدرابلاو ةتفاخلا موجنلا ىلإ ةنخاسلاو ةعملالا موجنلا نم لئاملا طيرشلا ىلع قلطيُ
 دمتعت .انه مهتايح مظعم اضًيأ نوضقيو انه مهتايح موجنلا أدبت .يسيئرلا لسلستلا
 رثكأ نوكت ىلعلأا ةيلولأا ةلتكلا تاذ موجنلاف :اهتلتك ىلع طقف ةيادبلا ةطقن

 يسيئرلا لسلستلا ةايح للاخ .لقلأا ةيلولأا ةلتكلا تاذ موجنلا نم ةقرز رثكأو ةنوخس
 سمشلا يضقتس ،لاثملا ليبس ىلع كلذل ،HRD يف ارًيثك موجنلا كرحتت لا ،رقتسملا
 ةيسيئرلا ةلسلستملا موجنلا دلوت .لكشلا يف ايًلاح رهظت ثيح نينسلا نم نييلاب عضب

 :نيجورديهلا جامدنا للاخ نم ةقاطلا

	$$𝐻 + 	$$𝐻 → 	$%𝐻 

 ةاون ىلع لصحن )طقف دحاو نوتورب نع ةرابع امهنم لك( نيجورديه نيتاون نم كلذل
 جتني امم ،نورتوين ىلإ دحاو نوتورب لوحتي نأ بجي ،ةيلمعلا هذه يف .مويريتويدلا
 .اًقحلا كلذ نع ديزملا ملعتنس اننكل ،)ونيرتوينو نورتيزوب( نيرخآ نيميسج ثاعبنا هنع

 هانيأر يذلا لعافتلا سفن يف ،نوتوربلا عم مويريتويدلا جمدني ،ةيلاتلا ةوطخلا يف
 :ةينبلا مازقلأا دنع

	$%𝐻	+	$$𝐻	 → 	 	%'𝐻𝑒 

 قلاطإ متي امنيب ،مويلهلل اًرارقتسا رثكلأا ريظنلا يف مويليهلا نم ناتاون جمدنت ،اًريخأ

 :نينوتورب

	%'𝐻𝑒	+	%'𝐻𝑒	 → 	 	%3𝐻𝑒 + 2𝑝 

 ،ةياهنلا يف نكل ،تانوتورب 6 هعومجم ام ىلإ انجتحا 𝐻𝑒'%	 ىونلا ىلع لوصحلل اذل

 ىون( تانوتورب 4 نأ يه ةيئاهنلا ةجيتنلا نإف مث نمو .مهنم نينثا انعجرتسا

 يف قمعب تلاعافتلا هذه ةسارد كنكمي .مويليه ةاون ىلإ اهليوحت متي )نيجورديهلا
 "نيجورديهلا قرح" حلطصم سانلا مدختسي نايحلأا ضعب يف هنأ ظحلا .يلاتلا لكشلا
 يوونلا جامدنلاا هنإ .اًيئايميك اًقرح سيل هنأ ىنعمب احًيحص سيل وهو ،ةيلمعلا هذهل
 ةملك مادختسا سانلا ضعب بحي ،كلذ عمو .اًطاشن رثكأ ةيلمع يهو ،ةيرذلا ةاونلل

 .اًضيأ ةيوونلا تلاعافتلل "قرحلا"
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 يف ةقاط ،نوتورب-نوتورب ةلسلس ىمست يتلا ،نيجورديهلا جامدنا تلاعافت دلوت
 يسيئرلا لسلستلا موجن ىون
 

 ةيلمعلا يهو ،نوتورب-نوتورب ةلسلسب ىمسي ام هلاعأ ةفوصوملا تلاعافتلا لكشت
 ىدحإ دلوت .رغصلأا ةلتكلا تاذ يسيئرلا لسلستلا موجن لخاد ةقاطلا ديلوتل ةيسيئرلا

 ةدحو يهو ،تلوف نورتكلإ اجيم وه (MeV 26.73 MeV يواست ةقاط تايلمعلا هذه

 ةقاطلا رادقم وه eV (electronvolt) دحاو .)ةيوونلا ءايزيفلا يف اًبلاغ مدختست ةقاط
 تلوف نورتكلإ اجيم 1 و ،تلوف 1 دهجب يئابرهك لاجم يف نورتكللإا اهيلع لصحي يتلا

 :يلاتلاك joule و MeV نيب ليوحتلا .تلوف نورتكلإ نويلم ةطاسبب وه

1	𝑀𝑒𝑉 = 1.6 × 10&$'	𝐽  

 .ةيلولأا اهتلتكو يسيئرلا لسلستلا يف موجنلا رمع نيب مامتهلال ةريثم ةقلاع كانه
 شيعتس اهنإف اذل ،قرتحتل رثكأ دوقو اهيدل نوكي ةمخضلا موجنلا نأ عقوتن نأ اننكمي
 امم ،ىلعأ ةءاضإب اضًيأ موجنلا هذه عتمتت ،HRD يف ىرن امك نكلو .لوطأ ةرتفل

 هنأ تاباسحلا رهظتُ .رغصلأا ةلتكلا تاذ اهتاريظن نم ريثكب رثكأ ةقاط ردصت اهنأ ينعي
 نم يسيئرلا لسلستلا يف لوطأ ةرتفل ىندلأا ةلتكلا تاذ موجنلا شيعت ،عقاولا يف
 مظعم كلهتست نأ ةماخض رثكلأا موجنلل نكمي .ىلعلأا ةلتكلا تاذ اهتاريظن
 ءارمحلا مازقلأل نكمي امنيب ،طقف نينسلا نم نييلام ةعضب يف اهب صاخلا نيجورديهلا

 .نينسلا نم تارايلملا تارشعل يسيئرلا لسلستلا يف ىقبت نأ ةماخض لقلأا
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How do stars form? 
Stars are massive, spherical bodies of hot gas and plasma that generate 
energy through nuclear reactions. This chapter explores the evolution of 
stars with various initial masses. 
Typical spiral galaxies, like the Milky Way, consist of stars, stellar remnants, 
dark matter, and interstellar matter. Interstellar matter can be categorized 
based on temperature which determines the state of hydrogen in it. The 
coldest form of interstellar matter is the molecular cloud, where hydrogen 
is cold enough to form molecules. Stars usually form in the densest parts of 
these molecular clouds, where the temperature is a few 10 K. The Orion 
Nebula is one of the nearest such  
 
star-forming regions. Star formation is often triggered by external events, 
such as collisions of molecular clouds, shockwaves from supernova 
explosions, or tidal forces from galaxy collisions. 
 

 
Orion nebula 

 
Molecular clouds create denser cores that contract when gravity 
overcomes gas pressure. The clouds may break into smaller parts, collapsing 
to form stars, leading to the formation of associations and open clusters. 
When the centre of the cloud heats up enough so that its pressure stops 
further gravitational contraction, it reaches hydrostatic equilibrium. The  
 
resulting object is called a protostar. As the cloud contracts, its rotation 
accelerates, causing it to flatten and form an accretion disk around the 
protostar. Material flows onto the protostar from the disk, increasing its 
pressure and temperature. Deuterium fusion starts when the temperature 
reaches 1 million K. Deuterium is an isotope of hydrogen. The nucleus of a  
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hydrogen atom is simply a single proton, while that of the deuterium consists 
of one proton and one neutron. Here and in the following we will denote the 
different atomic nuclei with their abbreviation (for example, H for hydrogen) 
and their mass number (total number of protons and neutrons in the 
nucleus) in the upper index and their atomic number (total number of 
protons in the nucleus) in lower index. So for example, what does a	$%H atomic 
nucleus mean? The letter H shows that it is a hydrogen nucleus. The 1 in the 
lower index shows that it has one proton, and the 2 in the upper index shows 
that the number of its  
protons + the number of its neutrons is 2. This means that such a nucleus 
has one proton and one neutron. Hence, this is the sign we can use to denote 
the deuterium nucleus. Having learned this notation, the fusion of deuterium 
with hydrogen results in helium: 
 

	$%H	+	$$H	 → 	 	%'He 
 
This process generates energy, which will start to heat the protostar. 
 
Once most of the surrounding dust and gas is blown away, the protostar 
becomes visible in the optical range and is termed a pre-main-sequence star. 
It continues to contract until the temperature inside reaches 10 million K, 
initiating hydrogen fusion, and transforming it into a main-sequence star. 
 
Protostars with masses less than about 0.08 solar mass (which is roughly 80 
Jupiter mass. 1 solar mass is the mass of our Sun, approximately 2 × 10'( kg) 
do not heat efficiently enough to trigger hydrogen fusion. However, 
deuterium fusion can begin in celestial bodies with masses as low as 13 
Jupiter mass. The objects in this mass range are called brown dwarfs, 
forming a separate class between planets and stars. Brown dwarfs would 
appear reddish or greyish, emitting mainly in the infrared spectrum. 
 
 
The Hertzsprung-Russell diagram  
The Hertzsprung-Russell diagram (HRD) is the most important diagram in 
astronomy. It plots the luminosity (their intrinsic brightness, which we could 
measure if we were close by) of stars as a function of their temperature. 
Strikingly, stars do not uniformly fill this plot, which means that there is 
some sort of relationship between the temperature and the brightness of 
the stars. Stars on the  
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diagram form well-defined groups, representing different stages in the life 
of the stars.  

 
 
As you can see on the HRD, the colour of the stars is connected to their 
temperature. We will learn more about this later, but for now, it is important, 
that the coldest stars are red, and as the temperature increases we see 
orange, yellow, white and blue stars. This also means that stars can only have 
a couple of different colours. For example, they cannot be green or pink. Be 
careful and notice, that the horizontal axis of the HRD is different than how 
we usually use that axis: higher temperatures lie on the left side, not to the 
right. 
 
The diagonal band from the bright and hot stars to the faint and cool ones 
is called the main sequence. The stars start their life here and they also 
spend most of their lifetime here. Where they begin is solely dependent on 
their mass: stars with higher initial mass are hotter and bluer than stars with 
a lower initial mass.  
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During their stable main-sequence life, stars don’t move much on the HRD, so 
for example, the Sun will spend a couple more billions of years where it is 
currently shown in the figure. Main sequence stars generate energy with 
hydrogen fusion: 

	$$H + 	$$H → 	$%H 
So from two hydrogen nuclei (each of which is just a single proton) we get a 
deuterium nucleus. In the process, one proton should transform into a 
neutron, which results in the emission of two other particles (a positron and 
a neutrino), but we will learn more about that later. In the next step, a 
deuterium fuses with a proton, in the same reaction that we saw at brown 
dwarfs: 

	$%H	+	$$H	 → 	 	%'He 
Finally, two helium nuclei fuse into the most stable isotope of helium, while 
releasing two protons: 

	%'He	+	%'He	 → 	 	%3He + 2p 
So to get the two	%'He nuclei we needed a total of 6 protons, but in the end, 
we get back two of them. Hence the net result is that 4 protons (hydrogen 
nuclei) are converted into a helium nucleus. You can study these reactions 
in-depth in the following figure. Note that sometimes people use the term 
“hydrogen burning” for this process, which is not correct in the sense, that 
it is not chemical burning. It is the nuclear fusion of atomic nuclei, which is a 
much more energetic process. However, some people like to use “burning” for 
nuclear reactions as well. 
 

 
The hydrogen fusion reactions, called proton-proton chain generate energy 
in the cores of main-sequence stars 
 
 
The reactions described above form the so-called proton-proton chain, 
which is the main energy-generating process inside smaller mass main-
sequence stars. One of these processes generates 26.73 MeV energy. MeV 
is a megaelectronvolt, a unit of energy often used in nuclear physics. One eV  
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(electronvolt) is the amount of energy an electron gets in an electric field 
with a voltage of 1 V, and 1 MeV is simply 1 million eV. The conversion between 
MeV and joule is as follows: 
1 MeV = 1.6 × 10&$' J 
There is an interesting relationship between the lifetime of stars on the main 
sequence and their initial mass. We could think that as more massive stars 
have more fuel to burn, they will live longer. But as we see on the HRD, these 
stars also have a higher luminosity, which means that they emit much more 
energy than their smaller mass counterparts. The calculations show that in 
fact, lower-mass stars live much longer on the main sequence than their 
higher-mass peers. The most massive stars can use up most of their 
hydrogen in just a few million years, while the least massive red dwarfs can 
stay in the main sequence for tens of billions of years. 

 

 ءارمحلا ةقلامعلا
 ةيمك أدبت ،موجنلا نطاب يف مويليهلا ىلإ لوحتيو نيجورديهلا جمدني امدنع
 .مجنلا زكرم يف نوكتلا يف مويليهلا بلق أدبيو ضافخنلاا يف ةحاتملا نيجورديهلا

 ةلحرملا هذه يف مجنلا ةرارح ةجرد نأ ثيح ،ةيوون تلاعافتب مويليهلا بلق موقي لا
 ،مويليهلا نم ةلماخ ةاون انيدل ،ام ةلحرم يف كلذل .كلذل يفكي امب ةيلاع تسيل
 يف ةرارحلا ةجرد .جامدنلاا للاخ نم ةقاطلا دلوت يتلاو ،نيجورديهلا نم ةرشقب ةطاحم
 ،عرسأ ةيوونلا تلاعافتلا لعجي امم ،لبق نم هيلع تناك امم ىلعأ نلآا ةرشقلا هذه

 مجنلا أدبي .عسوتلا قيرط نع اذه ضيوعت مجنلا ىلع بجي .ةقاطلا جاتنإ دادزي يلاتلابو
 ةجرد للقيو )HRD يف ىلعلأل كرحتي( مجنلا ناعمل نم ديزي امم ،ءطبب عسوتلا يف
 ىلإ مجنلا لصي امدنع .)HRD ىلع نيميلا ىلإ كرحتي( مجنلل ةيجراخلا تاقبطلا ةرارح

 ةقلامعلا ةيؤر كنكمي هنأ يف ببسلا وه اذه .رمحأ قلامع وهف ،ىرخأ ةرم نزاوتلا
 .HRD يف يسيئرلا لسلستلا نم نميلأا يولعلا ءزجلا يف ءارمحلا

 
 أدبي نأ نكمي ثيحب ةيفاك ةرارح ةجرد ىلإ مجنلا بلق لصي ،تقولا ضعب رورم دعب

 ؟مويليهلا نم نيتاون جمدب تمق اذإ ثدحيس اذام .مويليهلا جامدنا ثودح

	%3𝐻𝑒	+	%3𝐻𝑒	 → 	 	34𝐵𝑒 

 ىرخأ ةرم للحتتو ةياغلل ةرقتسم ريغ اهيلع لصحن يتلا مويليربلا ةاون نإف ،كلذ عمو

 نويلم 100( ةيلاعلا ةرارحلا تاجرد دنع .ةيناث 5$&10 يلاوح يف مويليهلا نم نيتاون ىلإ

 :ةثلاثلا مويلهلا ةاون مضنت نلأ ةصرف كانه ،)نفلك

	%3𝐻𝑒	+	%3𝐻𝑒	+	%3𝐻𝑒	 → 	 	5$%𝐶 
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 ،ةيثلاثلا افلأ ةيلمعب ةيلمعلا هذه ىمست .ةرقتسملا نوبركلا ةاون ىلع لصحن اهدنعو
 مويليه ىون ثلاث جامدنا نإف هيلعو .افلأ ميسج وه مويلهلا ةاونل رخلآا مسلاا ايخيرات
 .نوبركلا ةاون هنم جتني اًعم

 
 .ةيلولأا اهتلتك ىلع رمحلأا قلامعلا ةلحرم دعب موجنلا ةايح دمتعت

Red giants 
As stars fuse hydrogen into helium in their core, the amount of hydrogen 
available starts to decrease and a helium core starts to form in the centre 
of the star. This helium core does not do nuclear reactions, as the 
temperature of the star at this point is not high enough for that. So at some 
point, we have an inert helium core, which is surrounded by a shell of 
hydrogen, which generates energy through fusion. The temperature in this 
shell is higher now than it was before, which makes the nuclear reactions go 
faster, hence the energy production increases. The star must compensate 
for this by expansion. The star slowly starts to expand, increasing the 
luminosity of the star (moving up the HRD) and decreasing the temperature 
of the outermost layers of the star (moving to the right on the HRD). When 
the star reaches equilibrium again, it is a red giant. That’s why you can see 
the red giants to the upper right from the main sequence on the HRD. 
 
Some time later the core of the star reaches a hot enough temperature that 
helium fusion can start to occur. What would happen if you fuse two helium 
nuclei? 

	%3𝐻𝑒	+	%3𝐻𝑒	 → 	 	34𝐵𝑒 
However, the beryllium nucleus we would get is very unstable and decays 
back to two helium nuclei in around 10&$5 s. In high enough temperatures (100 
million K), there is a chance though for a third helium nucleus to join in: 
 

	%3𝐻𝑒	+	%3𝐻𝑒	+	%3𝐻𝑒	 → 	 	5$%𝐶 
 
And the resulting carbon nucleus is stable. This process is called the triple-
alpha process, as the other name of the helium nucleus is the alpha particle,  
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for historical reasons. So in total, three helium nuclei fuse together to form 
a carbon nucleus. 
 

 
 
The life of stars after the red giant phase depends on their initial masses.  

 

 ءاضيبلا مازقلأا
 .ةيسمش ةلتك 8 نع لقت يتلا ةيلولأا لتكلا تاذ موجنلا ىلإ نلآا انهابتنا هجون انوعد

 جتنتو ،مجنلا نطاب يف نوبركلا نم ديزملاو ديزملا دلوت ةيثلاثلا افللأا ةيلمع نلأ ارًظن
 نطاب يف ةرفو نادادزي نيرصنعلا نيذه نإف ،نيجسكلأا ىرخلأا ةيوونلا تايلمعلا ضعب
 اذه .نيجسكلأاو نوبركلا ةاونب طيحي فلاغ يف مويليهلا جامدنا ثدحيسو ،مجنلا
 أدبي .موجنلا ةايحل يسيئرلا لسلستلا ةياهن يف ثدحت اهانيأر يتلا ءايشلأل ادًج هباشم

 نخست نل ،رغصلأا ةلتكلا تاذ موجنلا هذهل ةبسنلاب نكلو ،شامكنلاا يف مجنلا نطاب
 .نيجسكلأا وأ نوبركلا جامدنا للاخ نم ةقاطلا ديلوت ءدبل يفكي امب
 
 هتاقبط دقف يف أدبي هنلأ اًرظن .ةريبك ةعرسب ةداملا نادقف يف قلامعلا مجنلا أدبي

 .HRD نم قرزلأا ءزجلا وحن كرحتيس هنإف ،اًرارمحاو ةدورب رثكأ نوكت يتلاو ،ةيجراخلا
 مويليهلا نم اًدج ةقيقر ةرشق اهيف ىقبتي يتلا ةطقنلا ىتح ةيلمعلا هذه رمتست
 ضفخني كلذل ،ةقاطلا جتني مجنلا دعي مل .نيجسكلأاو نوبركلا بلق لوح نيجورديهلاو

 .ءاضيبلا مازقلأاب ةيمجنلا اياقبلا هذه ىمست .)HRD ىلع لفسلأل كرحتي( اًضيأ هناعمل
 هذه نإف ،ةقاطلا جاتنا فقوتل اًرظن .لٍاع يسيطانغم لاجم اهلو ةفيثكو ةريغص يهف
 ةئيطب ةيلمعلا هذه نإف ،كلذ عمو .اهتاعاعشإ نم ةقاطلا نادقف يف أدبت موجنلا
 .يلاحلا نوكلا رمعب ةنراقم ةقيرطلا هذهب دربت ىتح لوطأ اًتقو قرغتست يهف ،ةياغلل

 .ءادوسلا مازقلأا مهيمسن اننإف ،ةيفاك ةجردب دوربلا ثدح اذإ
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 ،مجنلل ةفوذقملا ةيجراخلا تاقبطلا ظحلان نأ اننكمي ،نوكتملا ضيبلأا مزقلا لوح
  ميدسلا ةيؤر نكمي ،مجنلا ةايح عم ةنراقملاب .يبكوكلا ميدسلا ىمست يتلاو
 

 يف ددبتي كلذ دعبو ،نينسلا نم فلالآا تارشع عضب طقف ،ادًج ةريصق ةرتفل يبكوكلا
 .يمجنلا نيب طسولا
 

White dwarfs 
Let us turn our attention now to stars with initial masses lower than 8 solar 
masses. As the triple-alpha process generates more and more carbon in the 
core, and some other nuclear processes create oxygen, these two elements 
get more and more abundant in the core, and helium fusion will occur in a shell 
surrounding this carbon-oxygen core. This is very similar to the things that 
we saw occurring at the end of the main-sequence life of stars. The core of 
the star starts to contract, but for these smaller mass stars, it will never 
get hot enough to start generating energy with the fusion of carbon or 
oxygen.  
 
The giant star starts to lose matter very rapidly. Because it starts to lose 
its outermost layers, which are colder and redder, it will move toward the 
blue part of the HRD. This process continues up until the point where there 
is just a very thin shell of helium and hydrogen left around the carbon-
oxygen core. The star is no longer producing energy, so its brightness also 
decreases (moves down on the HRD). These stellar remnants are called white 
dwarfs. They are small, dense, and have a high magnetic field. As they no 
longer produce energy they start to lose energy from their radiation. 
However, this process is very slow, it takes more time for them to cool down 
this way than the current age of the Universe. If they cooled down 
sufficiently, we would call them black dwarfs.  
 
Around the forming white dwarf, we can observe the ejected outer layers 
of the star, called a planetary nebula. Compared to the life of a star, the 
planetary nebula is visible for a very short time, only a few tens of 
thousands of years, after which it dissipates into the interstellar medium. 
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 ءادوسلا بوقثلاو ةينورتوينلا موجنلاو ةيمظعلا تارعتسملا
 جامدنا ،لاًوأ .رثكأ ةيوون تلاعافت ثدحت نأ نكمي ،ىلعلأا لتكلا تاذ موجنلا يف
 ىلإ ةريخلأا ةوطخلا اندوقت .نوكيليسلا جامدنا اًريخأو ،نيجسكلأاو ،نوينلا مث ،نوبركلا

 اًرظن ،يوونلا جامدنلاا قيرط نع ةقاطلا ديلوت ىلع ارًداق دعي مل يذلا ،ديدحلا جاتنإ
 يف اهجمدل ةقاطلا رامثتسا ىلإ جاتحنس ،ةقاطلا ثيح نم ةمءلام رثكلأا ةاونلا هنلأ
 دادزت يهو ،ىلعأ ةرارح تاجرد يف ةيوونلا تايلمعلا هذه ثدحت .لقثأ ءيش يأ

 نم تاقبطب طاحم ،يديدح بلق هل قلامع مجن انيدل نوكي ،ةياهنلا يف .ةعرس
 مجنلا أدبي امدنع .نيجورديهلاو مويليهلاو نوبركلاو نوينلاو نيجسكلأاو نوكيليسلا
 أدبت ثيحب ،ةياغلل نيلئاه ةرارحلا ةجردو مجنلا نطاب ىلع طغضلا نوكي ،شامكنلاا يف
 مجنلا نطاب يوتحيس .تانورتوين ىلإ اهليوحتو تانورتكللإا طاقتلا يف تانوتوربلا

 شامكنلاا فقوت ةبلاصلاو ةفاثكلا ةديدش ةداملا هذهو ،طقف تانورتوين ىلع اًبيرقت
 يدؤي امم ،جراخلا ىلإ ةيمدص ةجوم لاسرإ يف اذه أدبي .اهسفن نم دادترلاا للاخ نم
 وأ افونربوسلا ىمسي مخض راجفنا يف مجنلل ةيجراخلا تاقبطلا تيتشت ىلإ

 .ةميظعلا تارعتسملا
 
 تاذو ةياغلل ةفيثكو ةريغص ةاون طقف مجنلل كرتي ميظعلا رعتسملا راجفنا نإ
 يجذومنلا هرطق فصن غلبي .ينورتوينلا مجنلاب اهيمسن يتلاو ،ةيلاع ةيسيطانغم

 ادًج ةهباشم ةفاثك ينعي امم ،ةيسمش ةلتك 2-1 يلاوح هتلتك نكل ،مك 10 يلاوح

 يلاوح رودي اهضعب ،ادًج ةيلاع نارود ةعرسو ،) 63kg/m$10 يلاوح( ةيرذلا ةاونلا ةفاثكل

 .ةيناث لك ةرم نويلم

 
 .شامكنلاا فاقيإ ةينورتوينلا ةداملا ىتح عيطتست نلف ،ةماخض رثكأ مجنلا ناك اذإ
 ىتح ةيبذاجلا ةوق فقوي رخآ ءيش كانه دعي مل ثيح ةفاثك رثكأ مجنلا ةدام حبصت
 .دوسأ بقث ىلإ لوحتت

 
 امم ،هكرتي نأ ءيش يلأ نكمي لا ثيحب ةيوق ةيبذاج ةوق هل مسج وه دوسلأا بقثلا
 اننكمي ،فيرعتلا اذه نم .ءوضلا ةعرس يه "هحطس" ىلع بورهلا ةعرس نأ ينعي
 .دليشزترافش رطق فصن ةميقلا هذه ىمست .دوسلأا بقثلا رطق فصن باسح
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𝑣789 = I2𝐺𝑀
𝑅 	= 	𝑐			 → 			𝑅 =

2𝐺𝑀
𝑐%  

 هذه نأ ةظحلام مهملا نم .M هتلتك دوسأ بقث رطق فصن هلاعأ ةغيصلا يطعت
 هذه لخاد ام ءيش لخد اذإ هنأ ةطاسبب ينعي اذهف ،يقيقح يدام مسج ةفاح تسيل

 يأ هجاوت نلف ،دوسأ بقث يف تعقو اذإ كلذل .جورخلا نم ادًبأ نكمتي نلف ،دودحلا
 .دليشزراوش رطق فصن زاتجت امدنع زيمم ءيش

 

 نم رغصأ اهلعجل اهيلع تطغض اذإ ءيش يأ نم ءادوسلا بوقثلا نوكتت نأ نكمي
 نكمت اذإ ،مجك 2000 نزت ةرايسل ةبسنلاب ،لاثملا ليبس ىلع .دليشزراوش رطق فصن

3 نم رغصأ مجح ىلإ اهيلع طغضلا نم ام صخش × 10&%3	𝑚 ، بقث ىلإ لوحتتس اهنإف 

 هذه لثم اهيدل يتلاو نوكلا يف اهفرعن يتلا ةديحولا ةيلمعلا ،لاحلا ةعيبطب .دوسأ
 ،يمجنلا شامكنلاا وأ رايهنلاا يه ارًيثك ءايشلأا طغض ىلع ةرداق نوكتل ةلئاهلا ةوقلا
 .دوسأ بقث ىلإ ةأجف انترايس لوحتت نأ نم فوخلل يعاد لا كلذل
 

Supernovae, neutron stars and black holes 
In stars with higher masses, more nuclear reactions can take place. First, 
carbon fusion, then neon, oxygen and finally silicon fusion. The last step leads 
us to iron, which can no longer generate energy by nuclear fusion, as it is the 
most energetically favourable nucleus, we would need to invest energy to 
fuse it into anything heavier. These nuclear processes occur at higher and 
higher temperatures, and they are getting faster and faster. In the end, we 
have a giant star which has an iron core, surrounded by layers of silicon, 
oxygen, neon, carbon, helium and hydrogen. When the star starts to collapse, 
the pressure on the core and the temperature are so immense, that the 
protons start capturing electrons turning themselves into neutrons. The 
core will almost only contain neutrons, and this very dense and hard material 
stops the collapse by bouncing back from itself. This starts to send a 
shockwave outward, which scatters the outer layers of the star in a huge 
explosion, called a supernova. 
 
The supernova explosion only leaves the tiny, immensely dense and hugely 
magnetized core of the star, which we call a neutron star. Their typical 
radius is about 10 km, but their mass is around 1-2 solar mass, which means a 
density very similar to that of the atomic nucleus (around 10$6 kg/m3). They 
also have a  
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very fast rotational speed, some of them turn around a million times every 
second. 
 
If the star is even more massive, then even the neutron material cannot 
stop the collapse. The material of the star gets denser and denser as there 
is nothing else anymore to stop the gravitational force until it turns into a 
black hole. 
 
A black hole is an object that has such a strong gravitational pull that 
nothing can leave it, meaning that the escape velocity on its “surface” is the 
speed of light. From this definition, we can calculate the radius of the black 
hole. This quantity is called the Schwarzschild radius. 
 

𝑣789 = I2𝐺𝑀
𝑅 	= 	𝑐			 → 			𝑅 =

2𝐺𝑀
𝑐%  

 
The above formula gives the radius of a black hole with a mass M. It is 
important to note that this is not the edge of an actual physical object, it 
simply means that if something gets inside this boundary, it can never get 
out. So if you fell into a black hole, you would not experience anything special 
when you crossed the Schwarzschild radius.  
Black holes can be formed from anything if you squeeze them to make them 
smaller than the Schwarzschild radius. For example, for a car weighing 2000 
kg, if somebody was able to squeeze it into a size smaller than 3 × 10&%3 m, it 
would turn into a black hole. Naturally, the only process we know in the 
Universe that has such a huge force to be able to squeeze things  
 
so much is stellar collapse, so we don’t have to be afraid that our car will 
suddenly turn into a black hole. 
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 ءاضفلا ثاحبأ خيرات

History of space research 

 تايادبلا
 كلذ عجريو ،يملعلا ريكفتلل اًروحم بكاوكلا نيب رفسلا حبصأ نيرشعلا نرقلا ةيادب عم
 سدنهملاو يكسفوكلويست نيتناتسنوك يسورلا سدنهملا دوهج ىلإ بلاغلا يف

 ،ثريبوأ نامريه لبق نم مهلمع قاطن عيسوت مت .درادوج زجنيشتاه تربور يكيرملأا
 يذلا ،نوارب نوف رنريف هذيملتو ،يرجم يواسمن لصأ نم يناملأ سدنهمو ملاع وهو
 لولأا ماقملا يف V-2 خيراوص تممصُ .V-2 ،يئاضف خوراص لوأ ءانب يف اًيساسا ناك

 ريوطت يف اًقحلا تدعاس اهئانب ءانثأ اهعمج مت يتلا ةفرعملا نكل ،برح ةحلسأك
 .ءاضفلا ىلإ رفسلا
 
 املك ةفعاضم اًفاعضأ اهتفاثك ضفخنت ؛ةددحم دودح هل سيل ضرلأل يوجلا فلاغلا

 ةبكرم ربتعي يذلا امو ةرئاط هرابتعا نكمي ام ديدحت يف بغرن انلز ام اننكل ،انعفترا
 ،دودحلا هذه ددح نم لوأ ،يرجم ملاعو سدنهم ،نامراك نوف رودويث ناك .ةيئاضف
 روثعلل ىلعلأل قلحت ةرئاط يف ركف .ءاضفلل ينوناقلا دحلا اهنأ مويلا دقتعن يتلا
 وفطلا ببسب ءاوهلا يف ةرئاطلا لظت دق .نامراك طخ هيلع قلطأ امب وأ دودحلا ىلع

 بجي ،ةرئاطلا عفترت امدنع هنأ ينعي اذه .ةرئاطلا ةعرس عبرمو ءاوهلا ةفاثكب طبترملا
 ةعرسلا هذه برتقتسو .عافترلاا نم ردقلا سفن ىلع ظافحلل عرسأ لكشب قلحت نأ
 عفر ىلإ ةجاحب دعت مل انترئاط نأ ينعي امم ،ىلولأا ةينوكلا ةعرسلا نم ةياهنلا يف

 ىلع دحلا اذه عقي ،نامراك تاباسحل اًقفو .ةيئاضف ةبكرم ،فيرعتلا مكحب ،حبصتسو
 مث نمو ،ةرئاطلل ةصاخلا صئاصخلا ىلع دمتعي اذه نإف ،كلذ عمو ،اًبيرقت مك 91 دعب
 ىلإ لصو V-2 رابتخا خوراص نلأ اًرظن .رتموليك 100 هنأ ىلع نامراك طخ فيرعت متي
 .يجراخلا ءاضفلا لخدو نامراك طخ زاتجا دقف ،1944 ماع يف مك 189 عافترا

 
 خيراوصلا ميهافم ىلع نويكيرملأاو نويناطيربلا لصح ،ةيناثلا ةيملاعلا برحلا دعب
 ةيكيرملأا نيتوقلا نيب ءاضفلا قابس أدب .مهريوطت اوأدبو نامللأا نيسدنهملل ةيركسعلا

 نع يتيفوسلا داحتلااو ةدحتملا تايلاولا تفشك امدنع 1957 ماع يف هتييفوسلاو
 ربوتكأ 4 يف .ضرلأا لوح رادم يف مسج عضو يأ ،ةيعانص رامقأ قلاطإ يف امهتبغر

 ناك .(Sputnik 1) 1كينتوبس ،هل يعانص رمق لوأ حاجنب يتيفوسلا داحتلاا قلطأ ،1957
 لابقتسا اهنكمي ةيكلسلا تايئاوه عبرأ عم مس 58 اهرطق ةرك نع ةرابع كينتوبس

 .عيباسأ ةثلاث ةدمل تلااصتلاا
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 يعانص رمق لوأ ،1 كينتوبس

 
 تلقن يتلا ،2 كينتوبس كلذ يف امب ،ةيعانصلا رامقلأا نم اًريبك ادًدع كينتوبس لوأ عبت
 تقلطأ ،1958 رياربف يف ،ةزيجو ةرتف دعب .اكيلا بلكلا ،ءاضفلا ىلإ يح ناويح لوأ
 .(Explorer 1) 1ررولبسكا يعانصلا رمقلا حاجنب ةدحتملا تايلاولا

 

The	beginnings	
 
The	prospect	of	interplanetary	travel	became	a	focus	of	scientific	thinking	at	the	

beginning	 of	 the	 twentieth	 century,	 owing	 mostly	 to	 the	 efforts	 of	 Russian	
engineer	 Konstantin	 Tsiolkovsky	 and	 American	 engineer	 Robert	 Hutchings	
Goddard.	 Their	 work	 was	 expanded	 upon	 by	 Hermann	 Oberth,	 an	 Austro-
Hungarian-born	German	scientist	and	engineer,	and	his	pupil	Wernher	von	Braun,	
who	was	essential	 in	 the	creation	of	 the	 first	space	rocket,	 the	V-2.	V-2	rockets	
were	designed	primarily	as	weapons	of	war,	but	the	knowledge	gathered	during	
their	creation	subsequently	aided	in	the	development	of	space	travel.	
	
The	Earth's	atmosphere	has	no	definite	limit;	its	density	drops	exponentially	as	

we	travel	higher	and	higher,	yet	we	still	want	to	define	what	qualifies	as	an	aircraft	
and	what	counts	as	a	spacecraft.	Theodore	von	Kármán,	a	Hungarian	engineer	and	
scientist,	was	the	first	to	define	this	border,	which	we	today	believe	to	be	the	legal	
limit	of	space.	Consider	an	aircraft	soaring	higher	and	higher	to	find	the	boundary	
or	Kármán	line.	The	plane	may	remain	in	the	air	because	of	buoyancy,	which	is	
related	to	the	density	of	the	air	and	the	square	of	the	plane's	speed.	This	implies	
that	 when	 the	 plane	 goes	 higher,	 it	 must	 travel	 quicker	 to	maintain	 the	 same	
amount	of	lift.	And	this	speed	will	ultimately	approach	the	first	cosmic	velocity,	
which	means	 that	our	aircraft	will	no	 longer	 require	a	 lift	 and	will	become,	by	
definition,	 a	 spaceship.	 According	 to	 Kármán's	 calculations,	 this	 limit	 lies	 at	
roughly	 91	 km,	 however,	 this	 depends	 on	 the	 particular	 characteristics	 of	 the	
aircraft,	hence	the	Kármán	line	is	defined	as	100	km.	Because	a	V-2	test	rocket		
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reached	a	height	of	189	km	in	1944,	it	passed	the	Kármán	line	and	so	entered	

outer	space.	
	
Following	WWII,	the	British	and	Americans	obtained	the	concepts	of	German	

engineers'	military	 rockets	 and	 began	 their	 own	 development.	 The	 space	 race	
between	 the	 two	powers	began	 in	1957	when	 the	United	States	and	 the	Soviet	
Union	revealed	their	desire	to	launch	satellites,	i.e.	to	place	a	body	in	orbit	around	
the	 Earth.	 On	October	 4,	 1957,	 the	 Soviet	 Union	 successfully	 launched	 its	 first	
satellite,	Sputnik	1.	Sputnik	was	a	58-centimetre-diameter	sphere	with	four	radio	
antennas	that	could	receive	communications	for	three	weeks.		
	

	
Sputnik	1,	the	first	satellite	

	
The	first	Sputnik	was	followed	by	numerous	more,	including	Sputnik	2,	which	

transported	the	first	living	animal	into	space,	the	dog	Laika.	Soon	later,	in	February	
1958,	the	United	States	successfully	launched	Explorer	1,	a	satellite.	

 
 ةيرشبلا ءاضفلا تلاحر
 نأ تييفوسلا اوملع .ةيلاتلا ةمهملا ةوطخلا يه ةيرشبلا ءاضفلا تلاحر تناك
 اذهو .1961 ماع لولحب ةيرادم هبش ةيرشب ةيئاضف تلاحر اوزجني نأ نكمي نييكيرملأا
 ،رادملا ىلإ لوصولل ةمزلالا ىلولأا ةينوكلا ةعرسلا نم لقأ خوراصلا ةعرس نأ ينعي

 ءاضفلا ةلحر لبق .ةياغلل راوطلأا بيرغ رادم يف هنلأ نامراك طخ زواجتي وهف كلذ عمو
 ،فويلوروك يجريس ،يتيفوسلا ءاضفلا جمانرب سيئر أدب ،ةيكيرملأا ةيرادملا هبش
 ،ةيقيقح ةيرشب ةيرادم ةيئاضف ةلحر قيقحت ىلإ فدهي ناك يذلا ،كوتسوف جمانرب

 12 يفو ،اًحجان جمانربلا ناك .ضرلأا ىلإ حاجنب هتداعإو رادملا ىلإ ءاضف دئار لاسرإ يأ
 يف ءاضف دئار لوأ اهنتم ىلعو ،1 كوتسوف ةيئاضفلا ةبكرملا قلاطإ مت ،1961 ليربأ
 ةلحر American Mercury جمانرب لمكأ ،ويام 5 يف ،عقاولا يف .نيراغاغ يروي ،ملاعلا
  .يكيرمأ ءاضف دئار لوأ Alan Shepard درابيش نلاآ لعج امم ،ةحجان ةيرادم هبش ةيئاضف
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 ةدئار لوأ ،افوكشيريت انيتنلاف تناك .ةيرشب تاثعب تس يلامجإب كوتسوف جمانرب رمتسا
 .6 كوتسوف نتم ىلع ،ءاضف
 

 
 ءاضفلا يف لجر لوأ ،نيراجاج يروي

 
 كوتسوف تابكرم ليوحت مت ثيح ،Voskhod دوخسوف جمانرب ريوطت تييفوسلا لصاو

 لوأ عم ،جمانربلا يف نيتلوهأم نيتمهم ذيفنت مت .نيصخش لمحت نفس ىلإ ةيئاضفلا
 يفو .1965 ماع 2 دوخسوف ةمهم للاخ فونويل يسكيلأ هب ماق ءاضفلا يف ريس
 ليبس ىلع ،اًريبك اًحاجن اًضيأ  Gemini  يكيرملأا ءازوجلا جمانرب ققح ،هسفن تقولا
 .ىلولأا ةرملل اًعم نيتيئاضف نيتبكرم طبر للاخ نم لاثملا

 

 رمقلا ىلع لاجر
 ءاضفلا جمانرب جتنأ ثيح ،رمقلا ىلع امهدوهج ةيكيرملأاو ةيتييفوسلا ناتوقلا تزكر
 جمانربلاو ،ةديدج ةيئاضف ةبكرمو اًخوراص ،1967 ماع يف أدب يذلا ،زويوس يتيفوسلا
 سيلو ،نويكيرملأا زاف ،كلذ عمو .ةريغتم فادهأب نكلو ،اذه انموي ىتح رمتسم
 نلعأ ،1961 ويام يف .ولوبأ جمانرب عم ءاضفلا قابس نم ةلحرملا هذهب ،تييفوسلا

 للاخ حاجنب ةدوعلاو رمقلا ىلإ لجر لاسرإ متيس هنأ يدينيك .ف نوج يكيرملأا سيئرلا
 ىلع رابتخا ءانثأ 1 ولوبأ مقاط تام ثيح ،ةيواسأم ةيادب جمانربلا أدب ،ظحلا ءوسل .دقعلا
 تغلبو ،ةحجانلا ةيوجلا تلاحرلا نم ةلسلس كلذ عبت ،كلذ عمو .1967 ماع يف ضرلأا

 لين احبصأ ةيخيراتلا ةلحرلا هذه يفو ،1969 ويلوي 20 يف ،11 ولوبأ يف اهتورذ
 Mare يف رمقلا حطس مهمادقأ أطت نيذلا لئاولأا لاجرلا ،نيردلأ زاب و ،جنورتسمرأ

Tranquillitatis، وأ Sea of Tranquility. داور ىضمأ  
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 اهتداعلإ تانيعلا عمج يف ةيئاضفلا مهتبكرم جراخ ةعاسلا فصنو نيتعاس ءاضفلا
 داور طبه ،رهشأ ةعبرأ دعب ،ريبكلا راصتنلاا اذه دعب ولوبأ جمانرب فقوتي مل .ضرلأا ىلإ
 13 ولوبأ نيجسكلأا نازخ رجفنا .ةنولم اًروص اوذخأو رمقلا ىلع حاجنب 12 ولوبأ ءاضف

 ولوبأ عورشم دهش .ضرلأا ىلإ اوداعو اوجن ةثلاثلا لاجرلا نكل ،رمقلا ىلإ هتلحر يف
 ةيئاضف ةبكرم ءاضفلا داور لمح ثيح ،رمقلا حطس ىلع ةحجان طوبه تايلمع عبرأ
 طوبه رخآ ثدح .رمقلا حطس نم ربكأ ةحاسم ةيطغتل ةريخلأا ةثلاثلا يف رمقلا ىلع

 حطس ىلع يكيرمأ ءاضف دئار 12 طبه امدنع ،1972 ربمسيد يف رمقلا حطس ىلع
 .رمقلا
 
 

 
 
 
 

 رمقلا حطس ىلع لجر لوأ ،جنورتسمرأ لين

 
 

 
Human	spaceflight	
	
Human	 spaceflight	was	 the	next	 significant	 step.	The	 Soviets	were	 informed	

that	 the	Americans	could	accomplish	human	suborbital	spaceflights	by	1961.	 It	
means	that	the	rocket's	speed	is	 less	than	the	first	cosmic	velocity	necessary	to	
achieve	orbit,	yet	 it	crosses	the	Kármán	line	since	it	 is	 in	a	very	eccentric	orbit.	
Before	the	American	suborbital	spaceflight,	the	Soviet	space	programme's	chief,	
Sergei	Korolyov,	initiated	the	Vostok	programme,	which	was	meant	to	achieve	a	
true	human	orbital	space	flight,	i.e.	to	send	a	cosmonaut	into	orbit	and	successfully	
return	him	to	Earth.	The	programme	was	a	success,	and	on	April	12,	1961,	 the	
Vostok	 1	 spacecraft	 was	 launched,	 carrying	 the	 world's	 first	 cosmonaut,	 Yuri	
Gagarin.	 Indeed,	 on	 May	 5,	 the	 American	 Mercury	 programme	 completed	 a	
successful	suborbital	spaceflight,	making	Alan	Shepard	the	first	American		
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astronaut.	 The	 Vostok	 programme	 continued,	 with	 a	 total	 of	 six	 human	

missions.	Valentina	Tereshkova,	the	first	female	cosmonaut,	was	aboard	Vostok	6.	
	

	
Yuri	Gagarin,	the	first	man	in	space	
	
The	Soviets	continued	the	development	with	the	Voskhod	programme,	in	which	

Vostok	spacecrafts	were	converted	into	two-man	vessels.	Two	manned	missions	
were	carried	out	in	the	programme,	with	the	first	spacewalk	being	carried	out	by	
Alexei	 Leonov	 during	 the	 1965	 Voskhod	 2	 mission.	 Meanwhile,	 the	 American	
Gemini	programme	had	also	achieved	great	success,	for	example	by	linking	two	
spacecraft	together	for	the	first	time.	
	

Men on the Moon 
The two powers then focused their efforts on the Moon. The Soviet Soyuz 
space programme, which began in 1967, produced a new rocket and 
spacecraft, and the programme continues to this day, but with altered 
goals. However, the Americans, not the Soviets, won this leg of the space 
race with the Apollo programme. In May 1961, US President John F. Kennedy 
announced that a man will be sent to the Moon and successfully return 
within the decade. Unfortunately, the programme got off to a tragic start, 
with the Apollo 1 crew dying during a test on Earth in 1967. However, a 
succession of triumphant flights followed, culminating in Apollo 11: on July 20, 
1969, Neil Armstrong and Buzz Aldrin became the first men to set foot on the 
Moon's surface at Mare Tranquillitatis, or Sea of Tranquility. The astronauts 
spent two and a half hours outside their spacecraft collecting samples for 
return to Earth. Even after such a major triumph, the Apollo programme has 
not come to an end. Four months later, Apollo 12 astronauts successfully 
landed on the Moon and recorded colour photographs. The Apollo 13 oxygen 
tank burst on its journey  
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to the Moon, but the three men survived and returned to Earth. The Apollo 
project saw four more successful moon landings, with the astronauts 
carrying a lunar rover on the latter three to cover a bigger area of the lunar 
surface. The most recent lunar landing occurred in December 1972, when 12 
US astronauts landed on the Moon. 
 
 
Neil Armstrong, the first man on the Moon 
	

 
 
 

 

 

 

 رضاحلاو ةيئاضفلا تاطحملا
 تاطحملا .ءاضفلا فاشكتسا ةمهم يف ةمهم ةوطخ ةيئاضف ةطحم ءانب دعي
 اهمقاطو ءاضفلا نفس يوؤت نأ نكميو ضرلأا لوح رودت لكايه نع ةرابع ةيئاضفلا

 نكمي هنلأ ،ةيملعلا ةيحانلا نم ةياغلل ةديفم اهنأ امك .نمزلا نم ةليوط تارتفل
 ىرغصلا ةيبذاجلا راثآ يف ثحبلل تقولا نم ةليوط تارتفل ةيئاضف ةطحم مادختسا
 نلأ اًرظن .ىرخلأا داوملا وأ ناسنلإا مسج ىلع ينوكلا عاعشلإا وأ )نزولا مادعنا(
 رادملا يف اهقلاطإ مت دقف ،ةدحاو ةدحو نم ةنوكم تناك ىلولأا ةيئاضفلا تاطحملا

 يضرأ رادم يف ضرلأا لوح 1 تويلاس ةيتيفوسلا ءاضفلا ةطحم تراد .ةدحاو ةعطقك
 .ةرتفلا كلت للاخ ناتيئاضف ناتبكرم اهترازو ،1971 ليربأ نم اًءدب اًموي 175 ةدمل ضفخنم
 ضعبلاو ايًركسع ناك اهضعب ،ىرخأ ةيئاضف تويلاس تاطحم تييفوسلا قلطأ ،كلذ دعب

 ءاضفلا داور ىرجأ ثيح ،ةيكيرمأ ءاضف ةطحم لوأ بلاياكس تناك .اًيندم رخلآا
 ءاضفلا ةطحم تناك .1974-1973 ةرتفلا يف ةيملعلا براجتلا تائم نويكيرملأا
 تادحولا ةددعتم ءاضف ةطحم لوأ ،2001 ىلإ 1986 نم تلمع يتلا ،ريم ةيتيفوسلا
 لا يتلا ،ريم نتم ىلع امًوي 437 فوكايلوب يريلاف ىضمأ .اهتقباس نم ريثكب ربكأو

 ةيئاضفلا ريم ةطحم نكت مل .ةيئاضف ةلحر لوطلأ يسايقلا مقرلا ىلع ظفاحت لازت
 نم ديدعلا نم ءاضف داور اًضيأ اهراز لب ،تييفوسلا ءاضفلا داور ىلع ةروصقم ةيسورلا
 .ةدرابلا برحلا ءاهتنا دعب نويكيرملأا ءاضفلا داور كلذ يف امب ،ىرخلأا نادلبلا
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 ءاضفلا ةطحم ريوطت مت .يملاع نواعت ىلإ ديازتم لكشب جاتحت ىربكلا ءاضفلا جمارب
  قوف رتموليك 400 عافترا ىلع ةقيقد 92 لك ضرلأا لوح رودت يتلا ،)ISS( ةيلودلا

 

 ابوروأو نابايلاو ايسورو ةدحتملا تايلاولا نم ءاضفلا تلااكو عم نواعتلاب ،ضرلأا حطس
 ذنم .1998 ماع يف )ISS( ةيلودلا ءاضفلا ةطحم نم ىلولأا ةدحولا قلاطإ مت .ادنكو
 ةطحملا يف بوانتم لكشب ءاضفلا داور ةماقإ رمتست رضاحلا انتقو ىتحو 2000 ماع

 اهنكلو ،ةيملعلا ثاحبلاا ءارجلإ يساسأ لكشب ةيلودلا ءاضفلا ةطحم تممصُ .ةيلودلا
 .خيرملا وأ رمقلا ىلإ ةيلبقتسملا تلاحرلل قلاطنا ةصنمك اًضيأ لمعت دق
 
 ىلع اروصقم ءاضفلل رفسلا نكي مل ،نيرشعلاو يداحلا نرقلا نم لولأا دقعلا لئاوأ ذنم

 كراشم وه يمسرلا مسلاا( ءاضفلا وحئاس ىتح لب ،بسحف نوفرتحملا ءاضفلا داور
 SpaceX لثم( ةصاخلا تاكرشلا تناك .ءاضفلا ىلإ رفسلا نم اونكمت )ءاضفلا تلاحر يف
 يف ءاضفلا ىلإ رفسلا يف ةزراب ةلعاف تاهج )Northrop Grumman و Blue Origin و
 .ةريخلأا تاونسلا

 
 

Space Stations and the present 
The construction of a space station is a significant step in space 
exploration. Space stations are structures that orbit the Earth and can 
house spaceships and their crew for extended periods of time. They are also 
highly helpful scientifically, because a space station may be utilised for 
extended periods of time to research the effects of microgravity 
(weightlessness) or cosmic radiation on the human body or other materials. 
Because the first space stations were made up of a single module, they were 
launched into orbit in one piece. The Soviet Salyut 1 space station orbited 
the Earth in low Earth orbit for 175 days beginning in April 1971, and was 
visited by two spacecraft during that period. Following that, the Soviets 
launched other Salyut space stations, some of which were military and 
others civilian. Skylab was the first American space station, where hundreds 
of scientific experiments were conducted by American astronauts in 1973-
1974. The Soviet Mir space station, which functioned from 1986 to 2001, was 
the first multi-module space station that was far larger than previous ones. 
Valeri Polyakov spent 437 days aboard Mir, which still maintains the record 
for the longest space voyage. The Mir space station was visited not just by  
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Soviet astronauts, but also by astronauts from many other countries, 
including American astronauts after the Cold War ended. 
The largest space programmes increasingly need worldwide collaboration. 
The International Space Station (ISS), which circles the Earth every 92 
minutes at a height of 400 km above the surface, was developed in 
collaboration by space agencies from the United States, Russia, Japan, 
Europe, and Canada. The first module of the International Space Station (ISS) 
was launched in 1998, and the first astronauts took possession of the 
station in 2000, which has been continually occupied by astronauts since 
then. The ISS is primarily designed to conduct scientific research, but it 
might also function as a launch pad for future journeys to the Moon or Mars. 
 
Since the early 2000s, not only professional astronauts but even space 
tourists (the official name is spaceflight participant) have been able to 
travel into space. Private corporations (such as SpaceX, Blue Origin, and 
Northrop Grumman) have been more prominent actors in space travel in 
recent years. 

 
 بكاوكلا فاشكتسا
 
 كلذل ،سمشلا نم هبرقل ارًظن ةيئاضفلا تاسجملا مادختساب دراطع بكوك ةسارد بعصي

 يتلا ،10 رنيرام ةيكيرملأا ةيئاضفلا ةبكرملا تناك اهلوأ .بكوكلا ةليلق تاثعب تراز
 ءارجإو ةرهزلا بكوكل برق نع روص ىلع لوصحلا دعب 1974 ماع يف دراطع ىلإ تلصو
 ةيبسنلا ةكرحلا مدختست ثيح (Gravitational slingshot) ةيبذاج علاقم ةيلمع لوأ

 تطقتلا .راسملا رييغتل رخآ يكلف مسج وأ بكوك ةيبذاجو )سمشلا لوح رادملا لثم(
 موسر لمع متو ،نيرخآ نيبيرق نيروبعب موقت نأ لبق بكوكلل روصلا تائم 10 رنيرام
 .لاصتلاا دقفي نأ لبق بكوكلا حطس فصن يلاوحل
 

 بكوك صحفل اًيئاضف اًرابسم 16 قلطأ يذلا ،يتيفوسلا (Venera) ارينيف جمانرب ناك
 نيتيئاضف نيتبكرم لوأ تناك .هملاعم ديدحت يف اًمساح ،1961 ماع نم اًءدب ةرهزلا
 ةرهزلا بكوك حطسب امهمادطصا دعبو ،ةرهزلا بكوك نم بارتقلاا ىلإ طقف نافدهت

 .رخآ بكوك حطس ىلإ لصي ناسنلإا عنص نم مسج لوأ 3 ارينيف تحبصأ ،1966 ماع يف
 ،ضرلأا ىلإ تانايبلا لسرتو بكوك ىلع نامأب طبهت ةيئاضف ةبكرم لوأ Venera 7 تناك
 .لعفلاب اًروص Venera 9 تطقتلا دقو
 

 



	
	

75 نم 62 ةحفصلا 	
 

 
 

 
 ةيئاضفلا تاثعبلا نم ديدعلا تماق دقل .هتسارد تمت بكوك لضفأ وه خيرملا بكوك
 ةلاوجلا تابكرملاو لازنلإا تابكرم نم ديدعلا تطبهو ،تاينيتسلا ذنم بكوكلا صحفب
 حجان يتيفوس رابسم لوأ نكل ،1960 ماع يتيفوسلا خيرملا جمانرب أدب .هحطس ىلع

 نويكيرملأا بلغت يلاتلابو ،1971 ماع ىتح هقلاطإ رخأت ،(Mars 2) 2 خيرملا ،خيرملل
 .اهروصتو خيرملا نم برقلاب ريطت ةيئاضف ةبكرم لوأ 4 رنيرام تناك .تييفوسلا ىلع
 Mars 2 طوبهلا ةبكرم تمطحت امنيب ،خيرملا حطس ىلع طوبه لوأب تييفوسلا ماق

 تاراشلإا لقن يف حجنو ،مايأ ةعضب دعب Mars 3 رابسم قلاطإ مت ،بكوكلا حطس ىلع
 Viking جمانرب لسرأ .بكوكلا حطسل ةروص لوأ كلذ يف امب ،ةيناث 15 ةدمل رابسملا ىلإ
 يساسأ فدهب ،يضاملا نرقلا تاينيعبس يف خيرملا ىلإ طوبه يتبكرم اسانل عباتلا

 تامسلا نع لاًضف ،بكوكلل ةيوجلا فورظلا ةساردو ةايحلا ىلع ةلدأ نع ثحبلا وه

 ةبكرم اضًيأ تلمح يتلا ،ردنيافثاب خيرملا ةبكرملا تققحو .ةيسيطانغملاو ةيلازلزلا
 ماعلا سفن يفو .1997 ماع يف يلاتلا حجانلا طوبهلا ،رنروجوس ،ةريغص ةلوجتم
 .2006 ماع ىتح بكوكلا تسرد يتلاو ،Mars Global Surveyor ةمهم اسان تقلطأ
 ،اسان ةلاكول ةعبات ةيئاضف ةبكرم يهو ،Mars Odyssey ةبكرملا لاسرا مت 2001 ماع

 و Spirit تيريبس نم تانايبلا تلقن ،هتئيبو خيرملا ايجولويج ةسارد ىلإ ةفاضلإاب
 اًيئدبم ررقملا نم ناكو .2004 ماع حاجنب اتطبه نيتللا ،Opportunity يتينويتروبوأ
 ىلإ اذه ازواجت امهلاك نكلو ،اًموي 90 ةدمل خيرملا ىلع نيتلوجتملا نيتبكرملا ليغشت

 ىتح لمعلل يتينويتروبوأ ترمتسا امنيب ،2010 ماع تيريبسـب لاصتلاا دقفُ ،ريبك دح
 لوجتملا رابسملا لصو .عقوتملا اهرمع نم امًاع 14 نم رثكأ دعب ،2018 وينوي

(Perseverance rover) ةيحورملا عم بنج ىلإ اًبنج ،2021 ماع خيرملا ىلإ اسانل عباتلا 
 .قلاطلإا ىلع ضرلأا بكوك جراخ ةقاطلاب لمعت ةلحر لوأ لمكتل ،Ingenuity ةيتوبورلا

 .تيار نيوخلأا ةرئاط نم ةريغص شامق ةعطق Ingenuity لمحي ،اًميركت
 

 
 حطس ىلع )راسي( Ingenuity ةريغصلا ةيتوبورلا ةيحورملاو ةرباثملا ةلاوجلا ةبرعلا
 خيرملا
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 تلصح يتلا ،10 رينوياب يه يرتشملا بكوك نم برقلاب ريطت ةيئاضف ةبكرم لوأ تناك
 يسيطانغملا هلاجمو هتاقلح فاشكتسا ءانثأ يزاغلا قلامعلل برق نع روص لوأ ىلع
 نم ناسنلإا عنص نم ةيئاضفلا تابكرملا تارايز نم ددع ربكأ يرتشملل ناكو .1973 ماع
 يف ينيتور لكشب ةيبذاجلا تاروانم ذيفنت متي ثيح .ةريبكلا بكاوكلا عيمج نيب
 .دوقولا ىلع ظافحلا لجأ نم ةديعبلا بكاوكلا ةساردل تامهم
 
 موقت ةيئاضف ةبكرم لوأ تناك يتلاو ،11 رينوياب دعب لحز ىلإ 2 و 1 رجييوف تلصو
 اًرداق ناك .لحز رامقأ ربكأ ،ناتيت ةيؤر لهسلا نم لعجي رادمب 1 رجييوف عضو مت .كلذب
 نكمتي مل ،كلذ عمو .هترارح ةجردو هنيوكتو رمقلا ةفاثك لوح تامولعم عمج ىلع
 .كيمسلا يوجلا فلاغلا ببسب حطسلل ةلماش تاسارد ءارجإ نم
 
 ،ةيبورولأا ءاضفلا ةلاكوو اسان ةلاكو نيب نواعت وهو ،Cassini-Huygens عورشم لصو
 رمقلل ةبيرق روص تطقتلاو ،حاجنب Huygens طوبهلا ةبكرم تطبه .2004 ماع لحز ىلإ
 رمقلل ةقدلا ةيلاع روصلا لضفأ تطقتلاو ناتيت لوح رودت ينيساك تناك امنيب ناتيت
 .قلاطلإا ىلع ناتيت
 
 وه امك ،نوتبنو سوناروأ ،نييجراخلا نيبكوكلل ةقيقدلا تاسايقلا نم ديدعلا دجوت لا
 يتلا ةديحولا ةيئاضفلا ةبكرملا يه 2 رجييوف نلأ نيرخلآا زاغلا ةقلامعل ةبسنلاب لاحلا
 .مهتراز
 

Exploring the planets 
Mercury is difficult to study with space probes due to its closeness to the 
Sun, therefore few missions have visited the planet. The first of them was 
the American Mariner 10 spacecraft, which arrived at Mercury in 1974 after 
obtaining close-up photographs of Venus and performing the first 
gravitational slingshot operation. It captured hundreds of photos of the 
planet before making two more close passes, charting about half of its 
surface before losing contact. 
 
The Soviet Venera programme, which launched 16 space probes to examine 
Venus beginning in 1961, was critical in determining its features. The first two 
spacecraft were only intended to approach Venus, and after crashing into 
the surface of Venus in 1966, Venera 3 became the first man-made object to 
reach the surface of another planet. Venera 7 was the first spacecraft to 
safely land on a planet and relay data back to Earth, and Venera 9 has 
already taken pictures. 
 
Mars is the best-studied planet: many space missions have examined the 
planet since the 1960s, and multiple landers and rovers have landed on its  
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surface. The Soviet Mars programme began in 1960, but the first successful 
Soviet Mars probe, Mars 2, did not launch until 1971, thus the Americans beat 
the Soviets: Mariner 4 was the first spacecraft to fly by Mars and 
photograph it. The Soviets made the first landing on Mars: while the Mars 2 
lander crashed into the planet's surface, the Mars 3 lander, launched a few 
days later, successfully  
 
relayed signals to the probe for 15 seconds, including the first photograph 
of the planet's surface. NASA's Viking programme dispatched two landers to 
Mars in the 1970s, with the primary purpose of looking for evidence of life 
and studying the planet's weather conditions, as well as seismic and 
magnetic features. The Mars Pathfinder, which also carried a tiny rover, the 
Sojourner, achieved the next successful landing in 1997. NASA launched the 
Mars Global Surveyor mission the same year, which examined the planet until 
2006.  
 
The 2001 Mars Odyssey is a NASA spacecraft that, in addition to studying 
Mars' geology and environment, transmitted data from the Spirit and 
Opportunity rovers, which landed successfully in 2004. The two rovers were 
initially scheduled to function on Mars for 90 days, but both considerably 
surpassed this: Spirit lost  
 
communication in 2010, while Opportunity continued to operate until June 
2018, more than 14 years past its anticipated lifespan. NASA's Perseverance 
rover arrived on Mars in 2021, together with the Ingenuity robotic 
helicopter, completing the first powered extraterrestrial flight ever. As a 
homage, Ingenuity carries a little piece of cloth from the Wright brothers' 
aeroplane. 
 

 
The Perseverance rover and the small Ingenuity robotic helicopter (left) 
on Mars 
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The first spacecraft to fly close to Jupiter was Pioneer 10, which obtained 
the first close-up pictures of the gas giant while discovering its rings and 
magnetic field in 1973. Jupiter has had the most human-made spacecraft 
visits out of all the large planets since gravity-assist manoeuvres are 
routinely carried out there on missions to study more distant planets in 
order to conserve fuel.  
 
Voyager 1 and 2 arrived at Saturn after Pioneer 11, which was the first 
spacecraft to do so. Voyager 1 was built with an orbit that makes it easy to 
see Titan, Saturn's biggest moon. It was able to gather information about 
the density, composition, and temperature of the moon. However, it was 
unable to conduct a thorough investigation of the surface due to the thick 
atmosphere. 
 
The Cassini-Huygens project, a collaboration between NASA and ESA, arrived 
at Saturn in 2004. The Huygens lander successfully landed to get up-close 
photographs of the moon as Cassini orbited Titan and captured the best-
ever high-resolution images of the moon.  
There aren't as many precise measurements of the two outermost planets, 
Uranus and Neptune, as there are of the other gas giants since Voyager 2 is 
the only spacecraft to have visited them. 
	

 
 نييدوعسلا ءاضفلا داور

	
 ةكلمملل ةكراشم لوأ تناك ،م1985 وينوي 24 

 ثيح ،ءاضفلا وحن قابسلا يف ةيدوعسلا ةيبرعلا
 نب ناطلس ريملأا يكلملا ومسلا بحاص حبصا

 ءاضف دئار لوأ ،دوعس لآ زيزعلا دبع نب ناملس
 ةلحر يف كلذو ،ملسم ءاضف دئار لوأو يبرع

  .يرفكسيد ءاضفلا كوكم

 كلفلا مولعب مامتهلاا قافآ تحتف ةلحرلا هذه
 ةيتحتلا ىنبلا ريوطت ىلع لمعلاو ،ءاضفلاو
 يلحملا نييوتسملا ىلع تازاجنإ قيقحتل يعسلاو لاجملا اذه يف ةيرشبلا دراوملاو

 .يلودلاو
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 ،ءاضفلا داور دادعلإ اهجمارب للاخ نم ةيدوعسلا حمطت ،2030 ةيؤر تاجرخمل اقيقحت

 ،ايًملاعو ايًلحم مهنارقأ ةسفانمل نوبوهوملاو نوزيمتملا تاباشلاو بابشلا نيكمت ىلإ
 .مهتاردقو مهتبهوم معدل لبسلا لك ريفوتب كلذو ،مهريوطتو

 دئارو يوانرب ةناير ةيدوعسلا ءاضفلا ةدئار للاخ نم ةكلمملا تكراش ددصلا اذه يفو
 ةلحرلا يف ،ينرقلا يلع يدوعسلا ءاضفلا

 اماق ثيح ،ISS ةيلودلا ةطحملا ىلإ ةيلودلا
 ةمهملا ةيملعلا براجتلا نم ديدعلا ءارجإب
  .ةيرشبلل

 ىلع ءشنلل زفحمو عفاد تاكراشملا هذه دعتو

 .ءاضفلاو كلفلا لاجم يف لوخدلا

 براجت ةدع نويدوعسلا ءاضفلا داور ىرجأ دقلو
 ،ءاضفلا يف ةيدوعسلا براجتلا تفدهتسا .ىرغصلا ةيبذاجلا يف ةدئار ةيملع ةيثحب
 ةدايز يف مهسيس امم ،ةيعانطصلاا بحسلا راطمتساو ايلاخلا مولعو ةيرشبلا ثوحبلا

 .ملاعلا لود نم ديدعلا يف راطملأا لوطه تلادعم

 داور ىرجأ ،ءاضفلا يف هدوجو للاخ ناسنلإا ةحصل لضفأ مهف يف ةمهاسمللو
 قفدت سايق لثم ،ناسنلإل ةيويحلا ةزهجلأاو ءاضعلأا فئاظو رابتخا نييدوعسلا ءاضفلا
 ةبقارمو ،غامدلل يئابرهكلا طاشنلاو ،ةمجمجلا لخاد طغضلا مييقتو ،غامدلا ىلإ مدلا

 تارشؤملا صحفل ةيجولويبلا تانيعلاو مدلا تانيع ذخأو ،يرصبلا بصعلا يف تاريغتلا
 قلختلاو ةينبلاو لوطلا يف تاريغتلا ةطيرخ مسرو ،ءاضفلا تلاحرب ةطبترملا ةيويحلا
 ايلاخلل ةيباهتللاا ةباجتسلاا يف قيقحتلل ةيلخلا مولع براجتو ،تانيجلل يثارولا
 .ةيرشبلا ةيعانملا

 يلعو يوانرب ةناير ؛نايدوعسلا ءاضفلا ادئار اهمدق يتلا براجتلا ،ةبهوم تكراش دقلو
 ،"ةبهوم" ةسسؤم لخاد ماعلا ميلعتلا ةبلط عم ،ةيلودلا ءاضفلا ةطحم لخاد ،ينرقلا
 يعولا زيزعت ىلإ ةفداهلا ؛"ىرغصلا ةيبذاجلا ةئيب" ةبرجت نمض ،مايأ 3 ةدمل كلذو
 ،ةيعون ةيبيردتو ةيئارثإ جمارب ربع ،هتلااجمو ءاضفلا مولعب ةبلطلا ىدل يفرعملا

 ،(ISS) ةيلودلا ءاضفلا ةطحم ىلع فرعتلل ،قطانملا ءاحنأ فلتخم نم ةبلط ةكراشمب
 ،ءاضفلا ىلإ امهتلحر يف نييدوعسلا ءاضفلا يدئار عم يظحللاو رشابملا لصاوتلاو
 .ءاضفلا داورل ةكلمملا جمانرب راطإ يف
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The Saudi astronauts 
 
June 24, 1985 AD, was the first participation of the Kingdom of Saudi Arabia 
in the race towards space, where His Royal Highness Prince Sultan bin Salman 
bin Abdulaziz Al Saud became the first Arab astronaut and the first Muslim 
astronaut, in the flight of the space shuttle Discovery. 
This trip opened the horizons of interest in astronomy and space sciences, 
working on developing the infrastructure and human resources in this field 
and striving to achieve achievements at the local and international levels. 
To achieve the outcomes of Vision 2030, Saudi Arabia aspires, through its 
programs to prepare astronauts, to enable distinguished and talented young 
men and women to compete with their peers locally and globally, and to 
develop them, by providing all means to support their talent and abilities. 
In this regard, the Kingdom, through the Saudi astronaut Rayyanah Barnawi 
and the Saudi astronaut Ali Al-Qarni, participated in the international flight 
to the International Station ISS, where they conducted many important 
scientific experiments for humanity. 
These participations motivate young people to enter the field of astronomy 
and space. 

The Saudi astronauts conducted several pioneering scientific research 
experiments in microgravity. The Saudi experiments in space targeted 
human research, cell sciences, and artificial Cloud seeding, which will 
contribute to increasing rainfall rates in many countries of the world. 

The Saudi astronauts examined the physiological processes of human vital 
organs and systems to assist us understand the way human health will adapt 
in space. They obtained blood flow to the brain, assessed intracranial 
pressure, observed changes in the optic nerve, and obtained blood samples 
and biological samples for investigation. Further, they traced changes in 
gene length, structure, and epigenetics. 

Mawhiba discussed the two Saudi astronauts' experiences with general 
education students from the "Mawhiba" Foundation as part of the 
"microgravity environment" experience. The mission was to increase 
students' awareness of space science and its fields through high-quality 
enrichment and training programs, with their participation, to learn about 
the International Space Station ISS. 
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 يبيرجت رابتخا

Practice Test 
 
 :ةيلاتلا ةلئسلأا يف ةحيحصلا ةباجلإا رتخا

 
 ؟ةيا7>لا ي; سمشلا ا67لإ روطتتس .-لا ةلحرلما ي$ ام  .1

What will the Sun eventually evolve into? 

A)  
 ضيبا مزق

White dwarf 

B)  
 *(ب مزق

Brown dwarf 

C)  
 ينورتوين مجن

Neutron star 

D)  
 دوسأ بقث

Black hole 

 

  ؟ضرلأا LMغ يJانص رمق هراز بكوك لوأ وه ام  .2

What was the first planet other than the Earth to be visited by a satellite? 

A)  
 دراطع

Mercury 

B)  
 ةرهزلا

Venus 

C)  
 خيرلما

Mars 

D)  
 يEFشلما

Jupiter 
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   ؟ضرلأا ىXع لوصفلا ببسي يذلا ام  .3

What causes seasons on Earth?  

A)  
 ضرلأاو سمشلا نMب ةفاسلما توافت

The varying distance between the Sun and the Earth 

B)  
 اهروحم لوح رودت يSو ضرلأا ةعرس

The speed of Earth as it rotates around its axis 

C)  
 سمشلا لوح ا^[ارود ءانثأ ضرلأا روحم ليم

The tilt of the Earth’s axis as it moves around the Sun 

D)  
 رمقلا ا^eجحي *aلا ءوضلا ةيمك

The amount of light blocked by the Moon 

 

  ؟را7>لاو ليللا ا67ف ىواستي ضرلأا ىXع ةيلاتلا عقاولما يأ  .4

In which of the following places do both the day and the night last for 12 hours on 

the day of this competition? 

A)  
 سيراب

Paris 

B)  
 نMكب

Beijing 

C)  
 يhامشلا بطقلا

The North Pole 

D)  
  ءاوتسلاا طخ

The Equator 

 

  ؟ضايرلا ةنيدم ي; را7>لاو ليللا ا67ف ىواستي موي يأ ي;  .5

On which of the following days does both the day and the night last for 12 hours 

in Riyadh? 

A)  January 1 

B)  March 23 

C)  August 31 

D)  October 20 
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كمي نLعم رادم ضرلأا ىhإ ةبسنلاب ةرقتسلما ةيعانصلا رامقلأل  .6
ّ

 سفن قوف امًئاد ءاقبلا نم ا7>

 ؟ضرلأا حطس ىXع ةطقنلا هذه نوكت نأ نكمي نيأ .ضرلأا ىXع ةطقنلا

Geostationary satellites have a particular orbit that enables them to always stay 

above the same point on the Earth. Where can this point be on the Earth’s surface? 

A)  
 ءاوتسلاا طخ دنع

On the Equator 

B)  
 يدجلا رادم وأ ناطرسلا رادم ىmع

On the Tropic of Cancer or the Tropic of Capricorn 

C)  
 يبونجلا بطقلا وأ يhامشلا بطقلا امإ

Either the North Pole or the South Pole 

D)  
sع ناكم يأ يmضرلأا ھجو ى 

Anywhere on Earth 
 

 ىXع ؟ضرلأا حطس قوف ةرقتسلما ةيعانصلا رامقلأا ھيف نوكت نأ بجي يذلا عافترلاا وه ام  .7

  .مك 6378 ضرلأا رطق فصن نأ رابتعا

How high do they have to be above the surface of the Earth? The radius of Earth 6378 

km 
A)  12756 km 

B)  35786 km 

C)  42164 km 

D)  63495 km 
 

  ؟ثدحي اذام .رمقلا ىXع تقولا سفن ي; ةشيرو ةرخص ءاضف دئار طقسي  .8

An astronaut drops a rock and a feather simultaneously on the Moon. What 

happens? 

A)  
 .اوطقسي نلف ،رمقلا ىmع ةيبذاج دوجو مدعل ارًظن

As there is no gravity on the Moon, they won’t fall down. 

B)  
 .قباس تقو يs ةرخصلا طقست

The rock falls down earlier. 

C)  
 .قباس تقو يs طقست ةشيرلا

The feather falls down earlier. 

D)  
 .تقولا سفن يs ناطقسي امهلاك

They both fall down at the same time. 
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ةأجف ضرلأا تكرحت اذإ ةنسلا لوط نوكيس مك  .9
ً

 ي; تأدبو سمشلا نم ةفاسلما فعض 

  ؟يرئاد رادم ي; كانه نارودلا

What would be the length of the year if the Earth were suddenly moved twice as 

far away from the Sun and started to orbit there on a circular orbit?  
A)  It wouldn’t change, 365 days 

B)  579 days 

C)  730 days 

D)  1032 days 

 
 ي; لخدتو اهخيراوص لعشت ةأجف .v ةعرسب ضرلأا لوح يرئاد رادم ي; رودت ةيئاضف ةبكرم  .10

  ؟ةديدجلا ا�7عرس ي$ ام .ضرلأا طيحم ةكرات ،ئ;اكم رادم

A spaceship is on a circular orbit around Earth with a velocity v. Suddenly it 

ignites its rockets and gets into a parabolic orbit, leaving the vicinity of Earth. 

What is its new velocity?   
A)  Still v 

B)  2	𝑣 

C)  𝑣√2	 
D)  We can’t be sure just from these data. 

 

 نع لوقن نأ اننكمي اذام .ضرلأا ىXع ةيبذاجلا ⅓ وه خيرلما ىXع )g( ةيبذاجلا عراست  .11

 ؟خيرلما ىXع ىhولأا ةينوكلا ةعرسلا

 The gravitational acceleration (g) on Mars is only ⅓ of that on Earth. What can 

we say about the first cosmic velocity on Mars? 
A)  كأ�F ع ةدوجولما نمmضرلأا ى. 

It	is	larger	than	the	one	on	Earth. 
B)  ع ةدوجولما يواستmضرلأا ى. 

It	is	equal	to	the	one	on	Earth. 
C)  ع دوجولما نم رغصأmضرلأا ى. 

It	is	smaller	than	the	one	on	Earth.	
D)  ع كلذ دمتعيmلا ةيئاضفلا ةبكرلما عون ىa* اهمدختسن. 

It	depends	on	what	kind	of	spacecraft	we	use.	
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 مك .نLيئدبلما ةعرسلاو عافترلاا سفنب ،رمقلاو ضرلأا نم لك ىXع ايًقفأ اLMًغص امًسج يمرن  .12

 عراست( ؟ضرلأا ىXع ا7>ع رمقلا ىXع يقفأ هاجتا ي; ھيمر ةطقن نم مسجلا اهعطقي ةرم

 ).ضرلأا ىXع ةيبذاجلا ةميق سدس وه رمقلا ىXع ةيبذاجلا

We throw a small object horizontally on both the Earth and the Moon, with the 

same initial height and velocity. How many times further the object travels from 

the point of throw in a horizontal direction on the Moon than on the Earth? (The 

gravitational acceleration on the Moon is one-sixth of the Earth's value.) 

A)  
 .ةفاسلما سفن مسجلا عطقي

The	object	travels	the	same	distance. 

B)  
 .�Fكأ تارم 3 مسجلا عقي

The	object	falls	3	times	further. 

C)  
 .�Fكأ تارم 6√ رادقمب مسجلا ضفخني

The object falls √6 times further.	

D)  
 .�Fكأ تارم 6 مسجلا عقي

The	object	falls	6	times	further.	
 

 

 ؟ا�7لتك LMيغت نود اهمجح نم فللأا نم ءزج ىhإ سمشلا انصلق اذإ ثدحيس اذام  .13

What would happen if we were to shrink the Sun to a thousandth of its size 

without changing its mass? 
A)  ىرخلأا بكاوكلاو ضرلأا رمتستس sيغت نود نارودلا يMF. 

The	Earth	and	the	other	planets	would	continue	to	orbit	unchanged. 
B)  ضرلأا رمتستس sيغت نود نارودلا يMF بر^�س ةقلامعلا زاغلا بكاوكلا نكل. 

The	Earth	would	continue	to	orbit	unchanged,	but	the	gas	giants	would	escape. 
C)  ىرخلأا بكاوكلاو ضرلأا طقستس sسمشلا ي. 

The	Earth	and	the	other	planets	would	fall	into	the	Sun.	
D)  مشلا ماظنلا نم ىرخلأا بكاوكلاو ضرلأا بر^�س��*. 

The	Earth	and	the	other	planets	would	escape	the	Solar	System.	
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 ةنيفس ي; نزولا مادعناب رعشن �-م .لكشلا يواضيب رادم ي; ضرلأا لوح رودت ةيئاضف ةبكرم  .14

  ؟ءاضفلا

A spaceship is orbiting the Earth in an elliptical orbit. When do we experience 

weightlessness in the spaceship? 
A)  ضرلأا نم ةطقن برقأ دنع عراستت ةيئاضفلا ةبكرلما تناك اذإ. 

If	the	spaceship	is	accelerating	at	the	point	closest	to	the	Earth. 
B)  ضرلأا نع دعبلأا ةطقنلا دنع أطابتت ةيئاضفلا ةبكرلما تناك اذإ. 

If	the	spaceship	is	decelerating	at	the	point	farthest	from	the	Earth. 
C)  ضرلأا نم ةطقن دعبأ دنع عراستت ةيئاضفلا ةبكرلما تناك اذإ. 

If	the	spaceship	is	accelerating	at	the	point	farthest	to	the	Earth. 	
D)  ا^�اكرحم مدختست لا ةيئاضفلا ةبكرلما تناك اذإ. 

If	the	spaceship	does	not	use	its	engines.	
 

 

 

 

 

 

 

 

 

 

 

 

 



	
	

75 نم 74 ةحفصلا 	
 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

ةباجلإا #  
1.  A 
2.  B 
3.  C 
4.  D 
5.  B 
6.  A 
7.  B 
8.  D 
9.  D 

10.  C 
11.  C 
12.  C 
13.  A 
14.  D 
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